BID T IFB #09-1403JS REPAIR / RE	ABULATION FURBISH PU	MP&PUM	P MOTOR	RS		6312 7 Riverview 813-62				Re 7260 15ti Bradenton 941-36	h St. East , FL 34243			N. Ft. Myer 239-73	c Motors, Inc. amiami Trail s, FL 33903 11-5455			Sarasota, 941-37	Pump Service, lemen Rd. FL 34232 7-4373	Inc.
					RECONDIT	ION PUMP/	REWIND	MOTOR	RECONDIT	TON PUMP/	DEWINE	MOTOR	RECONDIT	TION PUMP/	PEWINT	MOTOR		N PUMP/ PUMP TOR	REWIN	D MOTOR
	VOLTO			EST OTY	UNIT PRICE	EXTENDED PRICE		EXTENDED PRICE		EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDE PRICE
LIFT STATIONS Wotor Type: HORIZONTAL OPEN DRIP- MODEL/FRAME TYPE: Manufacturer: RELIANCE	VOLTS	RPM	НР	EST. QTY.	UNITPRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNITERICE	FRICE	ONIT PRICE	FRICE	UNITERICE	PRICE
P56G2302TGY Motor Type: VERTICAL TOTALLY	M 460	1125	0.5	15	\$5.25	\$ 78.75	\$10.50	\$157.50	\$64.00	\$960.00	\$102.00	\$1,530.00	\$5.00	\$75.00	\$5.00	\$75.00	\$120.00	\$1,800.00	\$170.00	\$2,550
MODEL/FRAME TYPE: Manufacturer: AEROVENT																				
TFRV	M 460	1750	3	6	\$10.50	\$63.00	\$21.00	\$126.00	\$64.00	\$384.00	\$111.00	\$666.00	\$5.00	\$30.00	\$5.00	\$30.00	\$150.00	\$900.00	\$350.00	\$2,10
143T	M 460 M 460	3600 1800	1.5 1.5	1	\$10.50 \$10.50	\$10.50 \$10.50	\$10.50 \$10.50	\$10.50 \$10.50	\$64.00 \$64.00	\$64.00 \$64.00	\$94.00 \$94.00	\$94.00 \$94.00	\$5.00 \$5.00	\$5.00 \$5.00	\$5.00 \$5.00	\$5.00 \$5.00	\$135.00 \$135.00	\$135.00 \$135.00	\$295.00 \$295.00	\$29 \$29
Manufacturer: MARATHON FJQ 56T1 7G5314E / FRAME 56-68	M230/460	1725	1.5	1	\$10.50 \$10.50	\$10.50 \$10.50	\$10.50	\$10.50	\$64.00 \$64.00	\$64.00	\$94.00	\$94.00	\$5.00	\$5.00	\$5.00	\$5.00	\$250.00	\$250.00	\$421.00	\$42
Manufacturer: LEESON M6C17FB9K / FRAME D56	M230/460	1725	0.75	6	\$10.50	\$63.00	\$10.50	\$63.00	\$64.00	\$384.00	\$94.00	\$564.00	\$5.00	\$30.00	\$5.00	\$30.00	\$90.00	\$540.00	\$150.00	\$90
LIFT STATIONS EXTENDED TOTALS:						\$236.25		\$378.00		\$1,920.00		\$3,042.00		\$150.00		\$150.00		\$3,760.00		\$6,5
SOUTHWEST REGIONAL TREATMENT MODEL/FRAME TYPE: Manufacturer: USMTR																				
324T-61 TF(C)-GLV 324T-61	M 460	1170	20	10	\$52.50	\$525.00	\$73.50	\$735.00	\$199.00	\$1,990.00	\$234.00		\$20.00	\$200.00	\$20.00	\$200.00	\$800.00	\$8,000.00	\$1,500.00	
364T-70 TF(C)-GMV 145-US	M 460	1770	60	8	\$94.50	\$756.00	\$210.00	\$1,680.00	\$466.00	\$3,728.00	\$468.00		\$50.00	\$400.00	\$50.00	\$400.00	\$995.00	\$7,960.00 \$2,990.00	\$2,600.00 \$3,500.00	\$20,8
Part Winding Start 150 4P	M 460 M 460	1200	75	2	\$78.75	\$157.50	\$157.50	\$315.00	\$506.00	\$1,012.00	\$506.00 \$549.00	\$1,012.00	\$50.00	\$100.00 \$500.00	\$50.00 \$100.00	\$100.00 \$500.00	\$1,495.00 \$1,900.00	\$2,990.00	\$3,900.00	\$7,0 \$19.5
Part Winding Start 150 4P	M 460	1200 1775	100 100	5	\$105.00 \$105.00	\$525.00 \$210.00	\$315.00 \$315.00	\$1,575.00 \$630.00	\$563.00 \$563.00	\$2,815.00 \$1,126.00	\$549.00 \$591.00		\$100.00 \$100.00	\$200.00	\$100.00	\$200.00	\$1,500.00	\$3,000.00	\$3,500.00	\$7.0
215T	M 460	1165	5	1	\$21.00	\$21.00	\$42.00	\$42.00	\$64.00	\$64.00	\$128.00	\$128.00	\$5.00	\$5.00	\$5.00	\$5.00	\$195.00	\$195.00	\$395.00	\$
364 TP	M 460	1780	60	3	\$105.00	\$315.00	\$157.50	\$472.50	\$466.00	\$1,398.00	\$468.00	\$1,404.00	\$10.00	\$30.00	\$10.00	\$30.00	\$995.00	\$2,985.00	\$2,600.00	\$7,8
324 TP 5K6226XH3A	M 460	3550	50	1	\$78.75	\$78.75	\$105.00	\$105.00	\$294.00	\$294.00	\$277.00	\$277.00	\$10.00	\$10.00	\$10.00	\$10.00	\$950.00	\$950.00	\$2,375.00	\$2,3
284 TP 5K6247XH2A	M 460	3520	30	11	\$73.50	\$73.50	\$105.00	\$105.00	\$251.00	\$251.00	\$210.00	\$210.00	\$10.00	\$10.00	\$10.00	\$10.00	\$695.00	\$695.00	\$1,695.00	\$1,6
56 JF-GW	M 460	1750	3/4	1	\$10.50	\$10.50	\$10.50	\$10.50	\$43.00	\$43.00	\$94.00	\$94.00	\$5.00	\$5.00	\$5.00	\$5.00		\$150.00	\$300.00	\$
215 ST 215T X10	M 460	1165	5	2	\$21.00	\$42.00	\$31.50	\$63.00	\$64.00	\$128.00	\$111.00	\$222.00 \$333.00	\$5.00 \$5.00	\$10.00 \$15.00	\$5.00 \$5.00	\$10.00 \$15.00	\$195.00 \$300.00	\$390.00 \$900.00	\$395.00 \$595.00	\$1.7
nverter Duty #5808 P TITAN	M 460 M 460	1160 1180	5 350	3	\$21.00 \$420.00	\$63.00 \$1,260.00	\$31.50 \$2,625.00	\$94.50 \$7,875.00	\$64.00 \$1,356.00	\$192.00 \$4,068.00	\$111.00 \$1,951.00		\$400.00	\$1,200.00	\$2,500.00	\$7,500.00	\$4,500.00	\$13,500.00	\$15,000.00	\$45,0
215 TD	M 460	1725	10	1	\$31.50	\$31.50	\$42.00	\$42.00	\$107.00	\$107.00	\$137.00	\$137.00	\$5.00	\$5.00	\$5.00	\$5.00		\$250.00	\$595.00	\$
45 T	M 460	1725	2	4	\$10.50	\$42.00	\$10.50	\$42.00	\$55.00	\$220.00	\$111.00	\$444.00	\$5.00	\$20.00	\$5.00	\$20.00	\$150.00	\$600.00	\$350.00	\$1,4
Manufacturer: PM Powermaster 254 T	M 460	1775	15	1	\$31.50	\$31.50	\$42.00	\$42.00	\$166.00	\$166.00	\$185.00		\$5.00	\$5.00	\$10.00	\$10.00	\$240.00	\$240.00	\$641.00	\$6
Manufacturer: ASIAN - AMERICAN 254 T Manufacturer: USEU	M 460	1775	15	1	\$21.00	\$21.00	\$42.00	\$42.00	\$166.00	\$166.00	\$185.00	\$185.00	\$5.00	\$5.00	\$10.00	\$10.00		\$240.00	\$641.00	\$6
143 T #P630LT-2777 254 T B085AU05V074R247F	M 460 M 460	1745 3480	1 15	1	\$15.75 \$21.00	\$31.50 \$21.00	\$31.50 \$52.50	\$63.00 \$52.50	\$64.00 \$149.00	\$128.00 \$149.00	\$111.00 \$185.00	\$222.00 \$185.00	\$5.00 \$20.00	\$10.00 \$20.00	\$5.00 \$50.00	\$10.00 \$50.00	\$145.00 \$300.00	\$290.00 \$300.00	\$395.00 \$760.00	\$7 \$7
Manufacturer: USELC 143T-6	M 460	1750	1	2	\$ 15.75	\$31.50	\$31.50	\$63.00	\$64.00	\$128.00	\$111.00	\$222.00	\$10.00	\$20.00	\$10.00	\$20.00		\$300.00	\$350.00	\$7
215 TD ED-80-215TP	M 460	1725	10	6	\$42.00	\$252.00	\$42.00	\$252.00	\$132.00	\$792.00	\$230.00	\$1,380.00	\$5.00	\$30.00	\$10.00		\$300.00	\$1,800.00	\$995.00	\$5,9
254 T TF-GDM2	M 460	1760	15	3	\$52.50	\$157.50	\$52.50	\$157.50	\$166.00	\$498.00	\$185.00	\$555.00	\$10.00	\$30.00	\$10.00	\$30.00	\$400.00	\$1,200.00	\$1,095.00	\$3,
105 TPWP	M 460	1775	125	11	\$105.00	\$105.00	\$630.00	\$630.00	\$516.00	\$516.00	\$774.00	\$774.00	\$100.00	\$100.00	\$100.00	\$100.00	\$1,800.00	\$1,800.00	\$4,000.00	\$4, \$4,
IOS TPWP	M 460 M 460	1775 1780	125 100	2	\$105.00 \$105.00	\$105.00 \$210.00	\$630.00 \$630.00	\$630.00 \$1,260.00	\$516.00 \$563.00	\$516.00 \$1,126.00	\$774.00 \$591.00		\$100.00 \$50.00	\$100.00 \$100.00	\$100.00 \$100.00	\$100.00 \$200.00	\$1,800.00 \$1,500.00	\$1,800.00 \$3,000.00	\$4,000.00 \$3,500.00	\$7.
364 TPTE	M 460	1780	50	1	\$105.00	\$78.75	\$315.00	\$315.00	\$294.00	\$294.00	\$277.00	\$1,182.00	\$10.00	\$100.00	\$50.00	\$50.00	\$1,000.00	\$1,000.00	\$2,600.00	\$2.
104 TP	M 460	1780	100	2	\$105.00	\$210.00	\$630.00	\$1,260.00	\$563.00	\$1,126.00	\$591.00		\$100.00	\$200.00	\$100.00	\$200.00	\$1,500.00	\$3,000.00	\$3,500.00	\$7,
5-326U Manufacturer: BALDOR	M 460	1175	20	2	\$31.50	\$63.00	\$52.50	\$105.00	\$149.00	\$298.00	\$284.00	\$568.00	\$10.00	\$20.00	\$10.00	\$20.00	\$650.00	\$1,300.00	\$1,800.00	
45 TC	M 460	1725	2	2	\$21.00	\$42.00	\$21.00	\$42.00	\$149.00	\$298.00	\$246.00		\$5.00	\$10.00	\$5.00			\$280.00	\$350.00	\$
215 T 37A01W828	M 460	1188	5	11	\$26.25	\$26.25	\$26.25	\$26.25	\$64.00	\$64.00	\$128.00		\$5.00	\$5.00				\$200.00	\$525.00	
215 T SPEC 37A01W828	M 460	1160	5	1	\$26.25	\$26.25	\$31.50	\$31.50	\$64.00	\$64.00	\$128.00		\$5.00		\$5.00 \$5.00			\$200.00 \$300.00	\$525.00 \$350.00	
GT17NC1BU51 66 - C	M 460 M 460	1725 1725	1/4	3	\$10.50 \$10.50	\$21.00 \$31.50	\$10.50 \$10.50	\$21.00 \$31.50	\$56.00 \$56.00	\$112.00 \$168.00	\$94.00 \$94.00		\$5.00 \$5.00		\$5.00 \$5.00			\$285.00	\$250.00	+
66 - C	M 460	1725	0.5	1	\$10.50	\$31.50 \$10.50	\$10.50	\$31.50 \$10.50	\$56.00	\$56.00	\$94.00		\$5.00					\$95.00		
66	M 460	1725	3/4	1	\$10.50	\$10.50	\$10.50	\$10.50	\$56.00	\$56.00	\$94.00		\$5.00					\$110.00		
66 C CD3450	M100 DC	1750	1/2	1	\$21.00	\$21.00	\$31.50	\$31.50	\$107.00	\$107.00	\$128.00		\$5.00		\$5.00			\$340.00		
4 JKO CD3450	M90 DC	104	1/4	3	\$21.00	\$63.00	\$31.50	\$94.50	\$107.00	\$321.00			\$5.00							\$1.

BID 7 IFB #09-1403JS REPAIR / RI	TABULATION EFURBISH PUI	MP & PUMI	Р МОТО	RS		6312 7 Riverview	ure Works, Inc. 78th St. , FL 33578 21-2600			Re 7260 15th Bradenton 941-36	n St. East , FL 34243			Mader Electri 18161 N. Ta N. Ft. Myers 239-73	amiami Trail		As	sociated Air & I 1155 Catt Sarasota, 941-37	lemen Rd.	nc.
					RECONDIT				RECONDIT					TON PUMP/				N PUMP/ PUMP		
	ĭ	T		1	PUMPM		REWIND		PUMP M		REWIND	MOTOR	PUMP N		REWIND	MOTOR EXTENDED	MO	TOR EXTENDED	REWIND	EXTENDED
	VOLTS	RPM	HP	EST. QTY.	UNIT PRICE	PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	PRICE PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE
56-C CD3450	M100 DC	1750	1/2	3	\$21.00	\$63.00	\$31.50	\$94.50	\$107.00	\$321.00	\$128.00	\$384.00	\$5.00	\$15.00	\$5.00	\$15.00	\$340.00	\$1,020.00	\$490.00	\$1,470.00
56-C 35A13-87	M 460	1725	1	3	\$10.50	\$31.50	\$21.00	\$63.00	\$64.00	\$192.00	\$111.00	\$333.00	\$5.00	\$15.00	\$5.00	\$15.00	\$95.00	\$285.00	\$200.00	\$600.00
364-T	M 460	1760	60	2	\$73.50	\$147.00	\$210.00	\$420.00	\$466.00	\$932.00	\$468.00	\$936.00	\$10.00	\$20.00	\$50.00	\$100.00	\$750.00	\$1,500.00	\$1,900.00	\$3,800.00
56 - C 56 - C	M 460 M 460	1750	1/2	2 2	\$10.50	\$21.00	\$10.50	\$21.00	\$56.00	\$112.00	\$94.00	\$188.00	\$5.00	\$10.00	\$5.00 \$5.00	\$10.00 \$10.00	\$95.00 \$90.00	\$190.00 \$180.00	\$250.00 \$240.00	\$500.00 \$480.00
254-T TEFC-C-FACE	M 460	1725 1760	1/3 15	2	\$10.50 \$52.50	\$21.00 \$105.00	\$10.50 \$52.50	\$21.00 \$105.00	\$56.00 \$166.00	\$112.00 \$332.00	\$94.00 \$185.00	\$188.00 \$370.00	\$5.00 \$5.00	\$10.00 \$10.00	\$10.00	\$10.00	\$240.00	\$480.00	\$480.00	\$960.00
364-T	M 460	1750	60	2	\$94.50	\$189.00	\$210.00	\$420.00	\$466.00	\$932.00	\$468.00	\$936.00	\$10.00	\$20.00	\$50.00	\$100.00	\$750.00	\$1,500.00	\$1,900.00	\$3,800.00
145 TC	M 460	1725	1.5	2	\$10.50	\$21.00	\$21.00	\$42.00	\$64.00	\$128.00	\$120.00	\$240.00	\$5.00	\$10.00	\$5.00	\$10.00	\$125.00	\$250.00	\$295.00	\$590.00
VM3558T	M 460	1725	60	2	\$94.50	\$189.00	\$210.00	\$420.00	\$466.00	\$932.00	\$468.00	\$936.00	\$10.00	\$20.00	\$50.00	\$100.00	\$145.00	\$290.00	\$325.00	\$650.00
374D1W825	M 460	1160	5	3	\$21.00	\$63.00	\$31.50	\$94.50	\$64.00	\$192.00	\$128.00	\$384.00	\$5.00	\$15.00	\$5.00	\$15.00	\$200.00	\$600.00	\$525.00	\$1,575.00
CD6215 145 T	M100 DC M 460	1750	1.5	5	\$21.00	\$105.00	\$21.00	\$105.00	\$64.00	\$320.00	\$120.00	\$600.00	\$5.00	\$25.00 \$10.00	\$5.00 \$5.00	\$25.00 \$10.00	\$400.00 \$140.00	\$2,000.00 \$280.00	\$1,000.00 \$350.00	\$5,000.00 \$700.00
143 T	M 460	1725 1725	2	2 2	\$21.00 \$10.50	\$42.00 \$21.00	\$21.00 \$21.00	\$42.00 \$42.00	\$64.00 \$56.00	\$128.00 \$112.00	\$120.00 \$94.00	\$240.00 \$188.00	\$5.00 \$5.00	\$10.00	\$5.00	\$10.00	\$140.00	\$190.00	\$350.00	\$590.00
Manufacturer: GENRL	111, 400	1,720			\$10.50	Ψ21.00	\$21.00	₽ ¬2.00	#20.00	ψ. 12.00	\$37.00	¥100.00	\$0.50	Ψ10.00	\$5.50	\$10.00	\$55.50	\$100.00	72000	3333.50
365 5K365SS208CTC	M 460	1780	75	1	\$52.50	\$52.50	\$157.50	\$157.50	\$506.00	\$506.00	\$434.00	\$434.00	\$50.00	\$50.00	\$100.00	\$100.00	\$850.00	\$850.00	\$2,100.00	\$2,100.00
254 T 54254A11Y12	M 460	3530	10	1	\$31.50	\$31.50	\$42.00	\$42.00	\$107.00	\$107.00	\$137.00	\$137.00	\$10.00	\$10.00	\$10.00	\$10.00	\$167.00	\$167.00	\$450.00	\$450.00
254 T TYPE K	M 460	1770	15	2	\$31.50	\$63.00	\$42.00	\$84.00	\$166.00	\$332.00	\$185.00	\$370.00	\$10.00	\$20.00	\$10.00	\$20.00	\$240.00	\$480.00	\$641.00	\$1,282.00
Manufacturer: DT 215 T 0050C-1AEB	N 400	4000	_			601.55		601.5-		****	* *******	#400 CT		*5.00	\$5.00	# F 00	£405.00	\$165.00	\$425.00	\$425.00
Manufacturer: BROOK CROMPTON	M 460	1800	5	11	\$21.00	\$21.00	\$21.00	\$21.00	\$64.00	\$64.00	\$120.00	\$120.00	\$5.00	\$5.00	\$5.00	\$5.00	\$165.00	\$165.00	\$425.00	\$425.00
L404 TS 150-FBN 12X12X15	M 460	710	25	1	\$78.75	\$78.75	\$105.00	\$105.00	\$276.00	\$276.00	\$392.00	\$392.00	\$10.00	\$10.00	\$10.00	\$10.00	\$1,400.00	\$1,400.00	\$3,700.00	\$3,700.00
Manufacturer: ALLCHA	141 400	710	25	1 '	\$70.73	\$70.73	\$105.00	\$105.00	\$270.00	\$210.00	\$392.00	\$332.00	\$10.00	\$10.00	\$10.00	Ψ10.00	\$1,400.00	Ψ1,400.00	\$0,700.00	40,7 00.00
364 T	M 460	625	25	2	\$52.50	\$105.00	\$105.00	\$210.00	\$276.00	\$552.00	\$421.00	\$842.00	\$10.00	\$20.00	\$10.00	\$20.00	\$1,600.00	\$3,200.00	\$4,100.00	\$8,200.00
Manufacturer: RELIANCE																				
405 TSD	M 460	705	30	3	\$94.50	\$283.50	\$262.50	\$787.50	\$276.00	\$828.00	\$506.00	\$1,518.00	\$20.00	\$60.00	\$20.00	\$60.00	\$1,688.00	\$5,064.00	\$4,220.00	\$12,660.00
FB 143 TC	M 460	1725	1	2	\$10.50	\$21.00	\$31.50	\$63.00	\$56.00	\$112.00	\$94.00	\$188.00	\$5.00	\$10.00	\$5.00	\$10.00	\$100.00	\$200.00	\$295.00	\$590.00
254 T 213T	M 460 M 460	1740 1755	7.5	2 3	\$42.00	\$84.00 \$94.50	\$52.50 \$52.50	\$105.00 \$157.50	\$107.00 \$98.00	\$214.00 \$294.00	\$137.00 \$152.00	\$274.00 \$456.00	\$5.00 \$5.00	\$10.00 \$15.00	\$5.00 \$5.00	\$10.00 \$15.00	\$197.00 \$185.00	\$394.00 \$555.00	\$495.00 \$470.00	\$990.00 \$1,410.00
Lighting Mixer Motor XJ-30	M 460	1725	0.65	4	\$31.50 \$21.00	\$94.50 \$84.00	\$31.50	\$126.00	\$56.00	\$294.00	\$107.00	\$428.00	\$5.00 \$5.00	\$15.00	\$5.00	\$20.00	\$190.00	\$760.00	\$350.00	\$1,400.00
215T	M 460	1730	5	2	\$21.00	\$42.00	\$42.00	\$84.00	\$64.00	\$128.00	\$120.00	\$240.00	\$5.00	\$10.00	\$5.00	\$10.00	\$165.00	\$330.00	\$425.00	\$850.00
256T HP10XT	M 460	1100	10	2	\$42.00	\$84.00	\$52.50	\$105.00	\$132.00	\$264.00	\$230.00	\$460.00	\$5.00	\$10.00	\$5.00	\$10.00	\$240.00	\$480.00	\$595.00	\$1,190.00
143 T	M 460	1715	3/4	1	\$10.50	\$10.50	\$21.00	\$21.00	\$56.00	\$56.00	\$94.00	\$94.00	\$5.00	\$5.00	\$5.00	\$5.00	\$90.00	\$90.00	\$295.00	\$295.00
Manufacturer: GAST			_	l .														****	*****	4700.00
145 TC	M 460	1800	1.5	2	\$10.50	\$21.00	\$21.00	\$42.00	\$64.00	\$128.00	\$111.00	\$222.00	\$5.00	\$10.00	\$5.00	\$10.00	\$140.00	\$280.00	\$350.00	\$700.00
Manufacturer: FLYGT - SUBMERSIBLE CS 3102	P 460	1800	5	10	\$315.00	\$3,150.00	\$157.50	\$1,575.00	\$422.00	\$4,220.00	\$170.00	\$1.700.00	\$400.00	\$4.000.00	\$300.00	\$3,000,00	\$820.00	\$8,200.00	\$1,790.00	\$17.900.00
3201.612	P 460	1150	35	4	\$315.00	\$1,260.00	\$315.00	\$1,260.00	\$846.00	\$3,384.00	\$591.00	\$2,364.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$1,435.00	\$5,740.00	\$3,990.00	\$15,960.00
3152	P 460	1750	20	5	\$315.00	\$1,575.00	\$315.00	\$1,575.00	\$728.00	\$3,640.00	\$255.00	\$1,275.00	\$400.00	\$2,000.00	\$400.00	\$2,000.00	\$1,295.00	\$6,475.00	\$3,400.00	\$17,000.00
Manufacturer: ABS - SUBMERSIBLE							,					,								
450311	P 460	1800	1/2	10	\$10.50	\$105.00	\$10.50	\$105.00	\$192.00	\$1,920.00	\$166.00	\$1,660.00	\$5.00	\$50.00	\$5.00	\$50.00	\$350.00	\$3,500.00	\$550.00	\$5,500.00
Manufacturer: LIMITORQUE				_						6				***		****	#000 CO	8000.00	\$400.00	64 000 00
Manufacturer: WESTNH	M 460	1730	1/3	3	\$21.00	\$63.00	\$21.00	\$63.00	\$56.00	\$168.00	\$102.00	\$306.00	\$10,00	\$30.00	\$10.00	\$30.00	\$200.00	\$600.00	\$400.00	\$1,200.00
328073	M 460	1755	20	1	\$42.00	\$42.00	\$105.00	\$105.00	\$166.00	\$166.00	\$202.00	\$202.00	\$50.00	\$50.00	\$100.00	\$100.00	\$290.00	\$290.00	\$740.00	\$740.00
365 TS TAFC	M 460	3560	75	3	\$105.00	\$315.00	\$210.00	\$630.00	\$506.00	\$1,518.00	\$434.00	\$1,302.00	\$100.00	\$300.00	\$200.00	\$600.00	\$850.00	\$2,550.00	\$2,100.00	\$6,300.00
143 T	M 460	1760	3/4	4	\$10.50	\$42.00	\$10.50	\$42.00	\$56.00	\$224.00	\$94.00	\$376.00	\$5.00	\$20.00	\$5.00	\$20.00	\$95.00	\$380.00	\$295.00	\$1,180.00
Manufacturer: MARATHON																				
324 TSC SB-256TTDR7026GW	M 460	1755	40	1	\$52.50	\$52.50	\$105.00	\$105.00	\$272.00	\$272.00	\$277.00	\$277.00	\$10.00	\$10.00	\$50.00	\$50.00	\$595.00	\$595.00	\$1,485.00	\$1,485.00
Manufacturer: COFMAN Duff Norton FS6Y	44.400	1705	0.05			640.50	[[640.50		# F0.00	\$94.00	****	\$5.00	\$5.00	\$5.00	\$5.00	\$100.00	\$100.00	\$295.00	\$295.00
Manufacturer: DAYTON	M 460	1725	0.25	+ 1	\$10.50	\$10.50	\$10.50	\$10.50	\$56.00	\$56.00	\$94.00	\$94.00	\$5.00	\$5.00	\$5.00	\$5.00	\$100.00	\$100.00	\$∠95,00	\$295,00
48 3K515	M 460	1725	1/12	2	\$10.50	\$21.00	\$10.50	\$21.00	\$39.00	\$78.00	\$43.00	\$86.00	\$5.00	\$10.00	\$5.00	\$10.00	\$85.00	\$170.00	\$150.00	\$300.00
Manufacturer: TOSHIBA		1.25	.,,2		\$ 10.50	\$ €1.00	¥10.50	₩ £1.50	\$22.30	4, 5.00	\$10.50	\$55.50	\$0.00	\$10.00	\$0.00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1			,,,,,,,,,
213 T BY754PGF2U3	M 460	1740	7.5	111	\$21.00	\$21.00	\$42.00	\$42.00	\$98.00	\$98.00	\$152.00	\$152.00		\$10.00	\$20.00	\$20.00		\$195.00	\$354.00	\$354.00
184 TC B0026FLC2A0H	M 460	1165	2	2	\$10.50	\$21.00	\$21.00	\$42.00	\$64.00	\$128.00	\$107.00	\$214.00	\$5.00	\$10.00	\$5.00	\$10.00	\$195.00	\$390.00	\$475.00	\$950.00
Manufacturer: MAC						****				** ***	4504.55			****	****	*****	40,000,00	#C 000 00	#E 000 00	647 400 00
Explosion Proof 405 T 8407 Manufacturer: SIEALL	M 460	1780	100	3	\$105.00	\$315.00	\$210.00	\$630.00	\$563.00	\$1,689.00	\$591.00	\$1,773.00	\$100.00	\$300.00	\$100.00	\$300.00	\$2,000.00	\$6,000.00	\$5,800.00	\$17,400.00
444 T 74106A3	M 460	3570	125	3	\$105.00	\$315.00	\$210.00	\$630.00	\$563.00	\$1,689.00	\$761.00	\$2,283.00	\$100.00	\$300.00	\$100.00	\$300.00	\$1,500.00	\$4,500.00	\$3,990.00	\$11,970.00
Manufacturer: GOULDS 364 TSDP	M 460	1770	60	2	\$105.00	\$210.00	\$157.50	\$315.00	\$466.00	\$932.00	\$468.00	\$936.00	\$10.00	\$20.00	\$10.00	\$20.00	\$590.00	\$1,180.00	\$1,100.00	\$2,200.00

	ABULATION				Tampa Armature Works, Inc. 6312 78th St. Riverview, FL 33578 813-621-2600					Re : 7260 15th	n St. East	-		Mader Electric 18161 N. Ta	amiami Trail		A:		lemen Rd	inc.
IFB #09-1403JS REPAIR / RE	FURBISH PU	MP & PUM	P MOTOF	RS						Bradenton,				N. Ft. Myers					FL 34232 7-4373	
					RECONDIT		1-2600		DECONDIT	941-36 TON PUMP/	0-8298		PECONDI	239-73	1-5455		RECONDITIO	N PUMP/ PUMP		
					PUMP		REWIND	MOTOR	PUMP N	1	REWIND	MOTOR	PUMP		REWIND	MOTOR		TOR		MOTOR
						EXTENDED	- KEVIIIVE	EXTENDED		EXTENDED		EXTENDED		EXTENDED		EXTENDED		EXTENDED		EXTENDED
	VOLTS	RPM	HP	EST. QTY.	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE
Manufacturer: DE LIMITORQUE																				
Retiance E-56 SMB-3,SB-3	M 460	2100	1	1	\$10.50	\$10.50	\$21.00	\$21.00	\$56.00	\$56.00	\$115.00	\$115.00	\$5.00	\$5.00	\$5.00	\$5.00	\$400.00	\$400.00	\$800.00	\$800.00
Manufacturer: LM	M 460	1740	5	,	\$21.00	\$42.00	\$21.00	\$42.00	\$64.00	\$128.00	\$111,00	\$222.00	\$10.00	\$20.00	\$10.00	\$20.00	\$165.00	\$330.00	\$300.00	\$600.00
Manufacturer: STERLING		1		1		* 12.22		¥ 1.2.103		*										
145 TC N0J86-4265	M 460	1745	1.5	4	\$10.50	\$42.00	\$21.00	\$84.00	\$56.00	\$224.00	\$94.00	\$376.00	\$5.00	\$20.00	\$5.00	\$20.00	\$140.00	\$560.00	\$295.00	\$1,180.00
Manufacturer: EMRSN 259 ATC 259CN410010	M 460	1750	5	4	\$10.50	\$42.00	\$21.00	\$84.00	\$64.00	\$256.00	\$111.00	\$444.00	\$5.00	\$20.00	\$5.00	\$20.00	\$200.00	\$800.00	\$425.00	\$1,700.00
Manufacturer: USELC	101 400	1750	<u> </u>	-	\$10.50	Ψ42.00	\$21.00	404.00	\$04.00	\$250.00	\$111.00	V 111.00	45.55	V 20.00		720.00	4202.02	,		
55-326U	M 460	1175	20	2	\$36.75	\$73.50	\$84.00	\$168.00	\$199.00	\$398.00	\$234.00	\$468.00	\$10.00	\$20.00	\$50.00	\$100.00	\$650.00	\$1,300.00	\$1,800.00	\$3,600.00
Motor Type: SUBMERSIBLE															1					
MODEL/FRAME TYPE: Manufacturer: HYDROMATIC				1																
S8L5000M4-6	P 460	1150	50	10	\$840.00	\$8,400.00	\$315.00	\$3,150.00	\$795.00	\$7,950.00	\$395.00	\$3,950.00	\$900.00	\$9,000.00	\$500.00	\$5,000.00	\$3,502.00	\$35,020.00	\$6,000.00	\$60,000.00
S6L2000M4-4	P 460	1750	20	5	\$498.75	\$2,493.75	\$210.00	\$1,050.00	\$676.00	\$3,380.00	\$234.00	\$1,170.00	\$300.00	\$1,500.00	\$600.00	\$3,000.00	\$2,250.00	\$11,250.00	\$4,500.00	\$22,500.00
Manufacturer: RELIANCE 01MUF83906G001SL	P 460	1165	50	4	\$840.00	\$3,360.00	\$315.00	\$1,260.00	\$895.00	\$3,580.00	\$495.00	\$1,980.00	\$150.00	\$600.00	\$300.00	\$1,200.00	\$3,600.00	\$14,400.00	\$6,000.00	\$24,000.00
Manufacturer: US MOTOR (Hazardous	1 400	1,00	- 30		40-10.00	Ψ0,000.00	\$310.00	\$1,200.00	\$000.00	\$0,000.00	\$ 100.00	\$1,000.00	V ,00.00	\$ 333.00	Q 000000	V 1, 2 3.33				
H04530 "INVERTER DUTY"	P 460	1775	50	5	\$157.50	\$787.50	\$210.00	\$1,050.00	\$995.00	\$4,975.00	\$695.00	\$3,475.00	\$150.00	\$750.00	\$300.00	\$1,500.00	\$2,500.00	\$12,500.00	\$5,000.00	\$25,000.00
Manufacturer: BARNES	P 460	1150	200	3	\$315.00	\$945.00	\$157.50	\$472.50	\$795.00	\$2,385.00	\$395.00	\$1,185.00	\$10.00	\$30.00	\$50.00	\$150.00	\$3,000.00	\$9,000.00	\$5,000.00	\$15,000.00
8SE36046HL Manufacturer: KSB	P 460	1150	36	3	\$315.00	\$945.00	\$157.50	\$472.50	\$795.00	\$2,365.00	\$393.00	\$1,185.00	\$10.00	\$30.00	\$30.00	\$130.00	\$5,000.00	\$5,000.00	\$5,000.00	410,000.00
KRTU-F100-250-74	P 460	1736	16.5	2	\$94.50	\$189.00	\$105.00	\$210.00	\$532.00	\$1,064.00	\$192.00	\$384.00	\$20.00	\$40.00	\$20.00	\$40.00	\$1,300.00	\$2,600.00	\$2,600.00	\$5,200.00
KRTU-F100-250-74	P 460	1736	12.7	4	\$94.50	\$378.00	\$105.00	\$420.00	\$532.00	\$2,128.00	\$192.00	\$768.00	\$20.00	\$80 00	\$20.00	\$80.00	\$1,100.00	\$4,400.00	\$2,100.00	\$8,400.00
Manufacturer: MYERS 6VC200M4-43	P 460	1750	20	4	\$105.00	\$420.00	\$105.00	\$420.00	\$676.00	\$2,704.00	\$234.00	\$936.00	\$20.00	\$80.00	\$20.00	\$80.00	\$1,400.00	\$5,600.00	\$2,800.00	\$11,200.00
SOUTHWEST REGIONAL TREATMENT																				
EXTENDED TOTALS:						\$32,476.50		\$38,540.25		\$82,825.00		\$72,305.00		\$25,170.00		\$30,430.00		\$233,370.00		\$514,983.00
SOUTHEAST REGIONAL TREATMENT																				
MODEL/FRAME TYPE: Manufacturer: FLYGT - SUBMERSIBLE		'			1															
CS3102	P 460	1700	5	6	\$315.00	\$1,890.00	\$157.50	\$945.00	\$422.00	\$2,532.00	\$170.00	\$1,020.00	\$400.00	\$2,400.00	\$300.00	\$1,800.00	\$820.00	\$4,920.00	\$1,790.00	\$10,740.00
Manufacturer: BALDOR		1		1																****
56 C VM3538	M 460	1725	1/2	2	\$10.50	\$21.00	\$21.00	\$42.00	\$47.00 \$132.00	\$94.00 \$264.00	\$85.00 \$94.00	\$170.00 \$188.00	\$5.00 \$5.00	\$10.00 \$10.00	\$5.00 \$5.00	\$10.00 \$10.00	\$85.00 \$195.00	\$170.00 \$390.00	\$150.00 \$490.00	\$300.00 \$980.00
56 C CD3450 56 C VM-3542	M100 DC M 460	1750 1800	3/4	2	\$10.50 \$10.50	\$21.00 \$21.00	\$21.00 \$21.00	\$42.00 \$42.00	\$132.00	\$264.00	\$94.00	\$188.00			\$5.00	\$10.00	\$90.00	\$180.00	\$160.00	
56 C DM-100	M 460	1756	0.75	2	\$10.50	\$21.00	\$21.00	\$42.00	\$47.00	\$94.00	\$94.00	\$188.00	\$5.00	\$10.00	\$5.00	\$10.00	\$195.00	\$390.00	\$295.00	
56 C 420D CD3475	M100 DC	1750	1/2	3	\$10.50	\$31.50	\$21.00	\$63.00	\$132.00	\$396.00	\$94.00	\$282.00			\$5.00 \$5.00	\$15.00 \$15.00	\$250.00 \$125.00	\$750.00 \$375.00	\$600.00 \$165.00	\$1,800.00 \$495.00
56 C VM3546 184 T TYPE TFL	M 460 M 460	1725 1725	5.3	3	\$10.50 \$21.00	\$31.50 \$21.00	\$21.00 \$31.50	\$63.00 \$31.50	\$56.00 \$64.00	\$168.00 \$64.00	\$94.00 \$120.00	\$282.00 \$120.00	\$5.00 \$5.00		\$5.00	\$5.00		\$140.00		
Manufacturer: HYDROMATIC -	111 700	11.20	T.5	<u> </u>	\$2,.50	Ψ21.00	\$51.50		1 3050											
SK75	P 460	1750	3/4	1	\$105.00	\$105.00	\$78.75	\$78.75	\$166.00	\$166.00	\$107.00	\$107.00	\$5.00	\$5.00	\$5.00	\$5.00	\$175.00	\$175.00	\$695.00	\$695.00
Manufacturer: MARATHON 184 T 97164917	M 460	3450	7.5	1	\$21.00	\$21.00	\$42.00	\$42.00	\$107.00	\$107.00	\$169.00	\$169.00	\$10.00	\$10.00	\$10.00	\$10.00	\$175.00	\$175.00	\$495.00	\$495.00
184 T	M 460	1740	5	2	\$21.00	\$42.00	\$31.50	\$63.00	\$64.00	\$128.00	\$120.00		\$5.00		\$5.00	\$10.00		\$280.00		\$850.00
184 T TYPE TFL	M 460	1730	5	1	\$21.00	\$21.00	\$31.50	\$31.50	\$64.00	\$64.00	\$120.00	\$120.00	\$5.00	\$5.00	\$5.00	\$5.00	\$140.00	\$140.00	\$425.00	\$425.00
Manufacturer: RELIANCE	M 460	1190/890	125/94		\$105.00	\$315.00	\$525.00	\$1,575,00	\$846.00	\$2.538.00	\$1,101.00	\$3,303.00	\$200.00	\$600.00	\$600.00	\$1,800.00	\$3,197.00	\$9.591.00	\$8.600.00	\$25,800.00
2-Speed Motor 447LP 365 HP	M 460	720	25	3	\$105.00 \$52.50	\$157.50	\$94.50	\$283.50	\$226.00	\$678.00	\$336.00		\$20.00		\$20.00	\$60.00		\$4,200.00	***	
445 T 1MAE29559	M 460	600-890		4	\$105.00	\$420.00	\$262.50	\$1,050.00	\$422.00	\$1,688.00	\$506.00	\$2,024.00	\$20.00	\$80.00	\$100.00	\$400.00	\$3,800.00	\$15,200.00	\$11,000.00	\$44,000.00
FJ 145 T XT	M 460	1730	2	4	\$10.50	\$42.00	\$21.00	\$84.00	\$64.00	\$256.00	\$119.00	\$476.00	\$5.00	\$20.00	\$5.00	\$20.00	\$125.00	\$500.00	\$350.00	\$1,400.00
Manufacturer: EURODRIVE 284 LPIE DFT160M4THC	M 460	1720	15	4	\$52.50	\$210.00	\$78.75	\$315.00	\$166.00	\$664.00	\$185.00	\$740.00	\$10.00	\$40.00	\$10.00	\$40.00	\$400.00	\$1,600.00	\$800.00	\$3,200.00
Manufacturer: DETROIT HOIST	IVI 4OU	1/20	'	 	\$32.30	Ψ2 10.00	Ψ/0.13	₩313.00	\$ 700.00	Ψ	\$100.00	₩1 TO.00	*,0.00	ψ¬υ.υυ	\$10.50	\$.5.50	1			
215 M6M19-14M25	M 460	1800	3/4	1	\$10.50	\$10.50	\$21.00	\$21.00	\$43.00	\$43.00	\$94.00	\$94.00	\$5.00	\$5.00	\$5.00	\$5.00	\$200.00	\$200.00	\$600.00	\$600.00
Manufacturer: GENRL	M 460	1700	100	1	#40.50	\$10.50	\$10.50	\$10.50	\$43.00	\$43.00	\$94.00	\$94.00	\$5.00	\$5.00	\$5.00	\$5.00	\$85.00	\$85.00	\$325.00	\$325.00
DC	M 460	1722	1/2		\$10.50	DC.UI &	<u> </u>	L ⊅10.30	II 443.00	Ψ+3.00	μ94.00	1 434.00								
365 TS 5K365BL115A	M 460	3570	75	3	\$105.00	\$315.00	\$210.00	\$630.00	\$506.00	\$1,518.00	\$434.00	\$1,302.00	\$50.00	\$150.00	\$100.00	\$300.00	\$790.00	\$2,370.00	\$2,290.00	\$6,670.00

	ABULATION	LATION BISH PUMP & PUMP MOTORS				Tampa Armatu 6312 7 Riverview,	8th St.			Re 7260 15th Bradenton	n St. East			Mader Electri 18161 N. Ta N. Ft. Myers	amiami Trail		As	sociated Air & F 1155 Cattl Sarasota		nc.
IFB #09-140335 REPAIR / RE	FURBISH PUR	MP & PUM	PINOTOR	.5		813-62				941-36				239-73				941-37		
					RECONDIT	ION PUMP/			RECONDIT				RECONDIT	ION PUMP/				PUMP/ PUMP		
					PUMP N	MOTOR	REWIND	MOTOR	PUMP W	OTOR	REWIND	MOTOR.	PUMP N		REWIND		MOT		REWIND	
	VOLTS	RPM	HP	EST. QTY.	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
0.545	VOLIS	T KEWI	ПГ	LO1. Q11.	ONT TRICE	TRIOL	Out Truot	111102	OMIT THISE									·		
Manufacturer: SPAR 145 T S108	M 460	1715	1.5	1	\$10.50	\$10.50	\$10.50	\$10.50	\$56.00	\$56.00	\$111.00	\$111.00	\$	\$0.00	\$	\$0.00	\$125.00	\$125.00	\$295.00	\$295.00
Manufacturer: USMTR	141 400	17,10	1.9		\$10.00	\$10.00	0,0.00	¥,0.00												
5008 PM TITAN	M 460	1185	300	4	\$315.00	\$1,260.00	\$1,575.00	\$6,300.00	\$1,356.00	\$5,424.00	\$1,866.00	\$7,464.00	\$500.00	\$2,000.00	\$1,800.00	\$7,200.00	\$4,500.00	\$18,000.00	\$13,000.00	\$52,000.00
215 T 611-SF 4X5X10	M 460	1750	10	2	\$21.00	\$42.00	\$42.00	\$84.00	\$107.00	\$214.00	\$137.00	\$274.00	\$10.00	\$20.00	\$10.00	\$20.00	\$197.00	\$394.00 \$700.00	\$495.00 \$400.00	\$990.00 \$1,600.00
184 JM	M 460	3495	5	4	\$21.00	\$84.00	\$31.50	\$126.00	\$64.00	\$256.00	\$111.00	\$444,00	\$5.00	\$20.00	\$5,00	\$20.00	\$175.00	\$700.00	\$400.00	\$1,600.00
Manufacturer: USELC	M 460	1750		2	\$10.50	\$21.00	\$10.50	\$21.00	\$56.00	\$112.00	\$94.00	\$188.00	\$5.00	\$10.00	\$5.00	\$10.00	\$95.00	\$190.00	\$295.00	\$590.00
143 T-6 C40HT Manufacturer: DAYTON	M 460	1730			\$10.50	\$21.00	\$10,50	\$21.00	\$50.00	\$112.00	\$34.00	Ψ100.00	\$0.00		49,00	3 13137				
F 56 C	M 460	1725	1/2	2	\$10.50	\$21.00	\$10.50	\$21.00	\$47.00	\$94.00	\$94.00	\$188.00	\$5,00	\$10.00	\$5.00	\$10.00	\$85.00	\$170.00	\$165.00	\$330.00
Manufacturer: LEE				<u> </u>															05:00	0.000.00
E 143 T F0Z9A	M 460	1725	1	2	\$10.50	\$21.00	\$10.50	\$21.00	\$56.00	\$112.00	\$94.00	\$188.00	\$5.00	\$10.00	\$5.00	\$10.00	\$95.00	\$190.00	\$210.00	\$420.00
Manufacturer: USELEC		1	450		****	6 040.00	#F0F 00	rece oo	604E 00	\$846.00	\$727.00	\$727.00	\$100.00	\$100.00	\$400.00	\$400.00	\$1,950.00	\$1,950.00	\$4,800,00	\$4,800.00
444 TPA	M 460	1775	150	1	\$210.00	\$210.00	\$525.00	\$525.00	\$846.00	\$646.00	\$121.00	\$1∠1.00	\$100.00	\$100.00	φ 4 00.00	₩-00.00	\$1,550.00	Ψ1,555.00	Ψ-1,000.00	¥ 7,000.50
Manufacturer: STER 145 TC 864258	M 460	1710	1.5	2	\$10.50	\$21.00	\$21.00	\$42.00	\$64.00	\$128.00	\$119.00	\$238.00	\$5.00	\$10.00	\$5.00	\$10.00	\$125.00	\$250.00	\$295.00	\$590.00
Manufacturer: EATON	W 400	17 10	1.0		V 10.00	V 2.1.55	421.00		, , , , , , , , , , , , , , , , , , ,											
NP-ITR A1-10080-3073	M 460	1735	5	4	\$10.50	\$42.00	\$21.00	\$84.00	\$64.00	\$256.00	\$120.00	\$480.00	\$10.00	\$40.00	\$10.00	\$40.00	\$195.00	\$780.00	\$525.00	\$2,100.00
SOUTHEAST REGIONAL TREATMENT																		******		
EXTENDED TOTALS:						\$5,502.00		\$12,752.25		\$19,311.00		\$22,691.00		\$5,695.00		\$12,265.00		\$64,974.00		\$176,285.00
NORTHEAST REGIONAL TREATMENT									1											1
MODEL/FRAME TYPE:	1				1				1											
Manufacturer: FLYGT - SUBMERSIBLE	D 460	1700	_	4	\$315.00	\$1,260.00	\$157.50	\$630.00	\$64.00	\$256.00	\$120.00	\$480.00	\$400.00	\$1,600,00	\$300.00	\$1,200.00	\$820.00	\$3,280.00	\$1,790.00	\$7,160.00
CS 3102 Manufacturer: BALDOR	P 460	1700		4	\$315.00	\$1,260.00	\$157.50	\$630.00	\$04.00	φ230.00	\$120.00	₩-00.00	\$400.00	Ψ1,000.00	\$555.55	\$1,200.00	4020.00	40,200.00	\$ 11. TT.	
56 C VM3538	M 460	1725	1/2	2	\$10.50	\$21.00	\$10.50	\$21.00	\$56.00	\$112.00	\$94.00	\$188.00	\$5.00	\$10.00	\$5.00	\$10.00	\$95.00	\$190.00	\$150.00	\$300.00
145 TC VM-8002	M 460	1725	3/4	2	\$10.50	\$21.00	\$10.50	\$21.00	\$56.00	\$112.00	\$94.00	\$188.00	\$5.00	\$10.00	\$5.00	\$10.00	\$100.00	\$200.00	\$160.00	\$320.00
56 C 428D CD3475	M 460	1756	0.75	2	\$10.50	\$21.00	\$10.50	\$21.00	\$56.00	\$112.00	\$94.00	\$188.00	\$5.00	\$10.00	\$5.00	\$10.00	\$250.00	\$500.00	\$600.00	\$1,200.00
56 C 428D Spec 34-4418-1463	M 460	1750	3/4	2	\$10.50	\$21.00	\$10.50	\$21.00	\$56.00	\$112.00	\$94.00	\$188.00	\$5.00	\$10.00	\$5.00	\$10.00	\$250.00	\$500.00	\$600.00	\$1,200.00
Manufacturer: HYDROMATIC -	D 400	4750	3/4		\$42.00	\$42.00	\$31.50	\$ 31.50	\$56.00	\$56.00	\$94.00	\$94.00	\$5.00	\$5.00	\$5.00	\$5.00	\$175.00	\$175.00	\$695.00	\$695.00
SK75 Manufacturer: USELC	P 460	1750	3/4	 	\$42.00	\$42.00	\$31.50	\$31.50	\$30.00	\$50.00	\$34.00	Ψ3-1.00	\$0.00	40.00		40.00	4.1.0100	· · · · · · · · · · · · · · · · · · ·	******	
2 Speed 5008 LP XSBL360	M 460	1190/890	125/94	4	\$94.50	\$378.00	\$525.00	\$2,100.00	\$846.00	\$3,384.00	\$1,101.00	\$4,404.00	\$200.00	\$800.00	\$700.00	\$2,800.00	\$1,600.00	\$6,400.00	\$6,100.00	\$24,400.00
284 LPTE DR121K	M 460	1770	15	4	\$31.50	\$126.00	\$42.00	\$168.00	\$166.00	\$664.00	\$185.00	\$740.00	\$10.00	\$40.00	\$10.00	\$40.00	\$280.00	\$1,120.00	\$850.00	\$3,400.00
145 TC Spec. 36-52577106	M 460	1725	2	2	\$21.00	\$42.00	\$31.50	\$63.00	\$64.00	\$128.00	\$119.00	\$238.00	\$5.00	\$10,00	\$5.00	\$10.00	\$140.00	\$280.00	\$350.00	\$700.00
Manufacturer: MARATHON	M 460	1725	0.5	1	\$10.50	\$10.50	\$10.50	\$10.50	\$56.00	\$56.00	\$94.00	\$94.00	\$5.00	\$5.00	\$5.00	\$5.00	\$85.00	\$85.00	\$150.00	\$150.00
Manufacturer: RELIANCE																				2500.00
P14J 2403 MOO	M 460	1725	1	2	\$10.50	\$2 <u>1.00</u>	\$10.50	\$21.00	\$56.00	\$112.00	\$94.00	\$188.00	\$5.00	\$10.00	\$5.00	\$10.00	\$105.00	\$210.00	\$295.00	\$590.00
Manufacturer: GENRL 215 T XRK215SC205	M 460	1750	10	2	\$42.00	\$84.00	\$52.50	\$105.00	\$107.00	\$214.00	\$137.00	\$274.00	\$10.00	\$20.00	\$10.00	\$20.00	\$197.00	\$394.00	\$495.00	\$990.00
Manufacturer: LIGHTING MITER	100 _	1	<u> </u>		1 7.2.00		7													7
56 XJ-65	M 460	1725	0.65	2	\$21.00	\$42.00	\$21.00	\$42.00	\$107.00	\$214.00	\$137.00	\$274.00	\$5.00	\$10.00	\$5.00	\$10.00	\$290.00	\$580.00	\$395.00	\$790.00
Manufacturer: RELIANCE														****	450.00	*****	#2 800 A0	¢4E 200 20	£44 000 00	\$44,000,00
445 T 1MAE29559	M 460	600-890	50	4	\$84.00	\$336.00	\$315.00	\$1,260.00	\$592.00	\$2,368.00	\$306.00	\$1,224.00	\$50.00	\$200.00	\$50.00	\$200.00	\$3,800.00	\$15,200.00	\$11,000.00	\$44,000.00
Manufacturer: STER 145 TC 86-4261	M 460	1710	1.5	2	\$10.50	\$21.00	\$10.50	\$21.00	\$64.00	\$128.00	\$94.00	\$188.00	\$5.00	\$10.00	\$5.00	\$10.00	\$125.00	\$250.00	\$350.00	\$700.00
Manufacturer: EMRSN																****	g000 00	£1 000 00	#2 F00 00	\$5 000 00
230 VDC 259CN410010	M230 DC	1750	5	2	\$15.75	\$31.50	\$21.00	\$42.00	\$64.00	\$128.00	\$112.00	\$224.00	\$5.00	\$10.00	\$5.00	\$10.00	\$900.00	\$1,800.00	\$2,500.00	\$5,000.00
Manufacturer: USMTR		1476	0.5		450.50	¢15750	¢70.75	\$236.25	\$226.00	\$678.00	\$302.00	\$906.00	\$50.00	\$150.00	\$50.00	\$150.00	\$750.00	\$2,250.00	\$1,790.00	\$5,370.00
324 TP VHS	M 460	1175	25	3	\$52.50	\$157.50	\$78.75	φ∠36.25	\$220.00	<u> </u>	φ302.00	ψ300.00	\$50,00	Ψ100.00	400.00	1,50.50	3.35.50		1	
Manufacturer: HS ARGUS 55 HAD112MD	M 460	1730	5.5	4	\$21.00	\$84.00	\$21.00	\$84.00	\$73.00	\$292.00	\$124.00	\$496.00	\$5.00	\$20.00	\$5.00	\$20.00	\$240.00	\$960.00	\$590.00	\$2,360.00
NORTHEAST REGIONAL TREATMENT						\$2,719.50		\$4.898.25		\$9.126.00		\$10.576.00		\$2,930.00		\$4,530.00		\$34.374.00		\$99,325.00
EXTENDED TOTALS:		1	1	1	1	\$∠,/19.50	F	\$4,696.25	B.	φ 3 , 1∠0.00	l constant de la cons	\$10,070.00	<u>II</u>	Ψ2,930.00	L	4-7,000.00	и	+0.,014.00	<u> </u>	Ţ, 525.5 0

BID 1	FABULATION 1					Tampa Armatu 6312 7	•			Re 7260 15ti				Mader Electric 18161 N. Ta			As	1155 Cat	Pump Service, II	nc.
IFB #09-1403JS REPAIR / RE		MP & PUMI	P MOTO	RS		Riverview, 813-62				Bradenton 941-36				N. Ft. Myers 239-73					FL 34232 7-4373	
					RECONDIT	TION PUMP/	2500		RECONDIT	ION PUMP/				ION PUMP/				PUMP/ PUMP		
					PUMP	MOTOR	REWIND	MOTOR	PUMP I	MOTOR	REWIND		PUMP N		REWIND		MO.	TOR	REWIND	MOTOR
	VOLTS	RPM	HP	EST. QTY.	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
"FUTURE MOTORS" FOR PLANT	VOLIS	IXFIVI	111	201. 011.	SWITTINGE	11000	0													
MODEL/FRAME TYPE	M 460	1800	70	3	\$ 52.50	\$ 157.50	\$78.75	\$236.25	\$725.00	\$2.175.00	\$654.00	\$1,962.00	\$10.00	\$30.00	\$10.00	\$30.00	\$1,100.00	\$3,300,00	\$2,800.00	\$8,400.00
SUBMERSIBLE:	P 460	1200	70 60	3	\$52.50	\$157.50	\$78.75	\$236.25	\$1,419.00	\$4,257.00	\$858.00	\$2,574.00	\$10.00	\$30.00	\$10.00	\$30.00	\$2,900.00	\$8,700.00	\$6,900.00	\$20,700.00
SUBMERSIBLE:	P 460	1800	10	3	\$21.00	\$63.00	\$52.50	\$157.50	\$769.00	\$2,307.00	\$466.00	\$1,398.00	\$10.00	\$30.00	\$10.00	\$30.00	\$1,400.00	\$4,200.00	\$2,800.00	\$8,400.00
	M 460	3600	200	3	\$52.50	\$157.50	\$52.50	\$157.50	\$1,333.00	\$3,999.00	\$1,266.00	\$3,798.00	\$10.00	\$30.00	\$10.00 \$10.00	\$30.00 \$30.00	\$2,400.00 \$350.00	\$7,200.00 \$1,050.00	\$6,500.00 \$900.00	\$19,500.00 \$2,700.00
	M 460	1740	30	3	\$52.50	\$157.50 \$157.50	\$78.75 \$78.75	\$236.25 \$236.25	\$352.00 \$1,435.00	\$1,056.00 \$4,305.00	\$266.00 \$1,719.00	\$798.00 \$5,157.00	\$10.00 \$10.00	\$30.00 \$30.00	\$10.00	\$30.00	\$4.500.00	\$13,500.00	\$13,000.00	\$39,000.00
	M 460 M 460	500/1170 300/700	80 75	3	\$52.50 \$52.50	\$157,50 \$157,50	\$105.00	\$315.00	\$1,396.00	\$4,188.00	\$1,728.00	\$5,184.00	\$10.00	\$30.00	\$10.00	\$30.00	\$6,400.00	\$19,200.00	\$17,000.00	\$51,000.00
US MOTOR - (405 TP)	M 460	1780	150	4	\$52.50	\$210.00	\$105.00	\$420.00	\$1,295.00	\$5,180.00	\$1,136.00	\$4,544.00	\$10.00	\$40.00	\$10.00	\$40.00	\$1,900.00	\$7,600.00	\$4,900.00	\$19,600.00
SO MICHOLA (1954 A)	M 460	1200/700	125/65		\$73.50	\$220.50	\$105.00	\$315.00	\$1,894.00	\$5,682.00	\$1,622.00	\$4,866.00	\$10.00	\$30.00	\$10.00	\$30.00	\$5,500.00	\$16,500.00 \$27,000.00	\$15,000.00 \$30,000.00	\$45,000.00 \$90.000.00
	M 460	300/700	250	3	\$73.50	\$220.50	\$105.00	\$315.00	\$2,672.00	\$8,016.00	\$2,837.00	\$8,511.00	\$10.00	\$30.00	\$10.00	\$30.00 \$310.00	\$9,000.00	\$27,000.00	\$30,000.00	\$304,300.00
"FUTURE MOTORS" FOR PLANT						\$1,659.00		\$2,625.00		\$41,165.00		\$38,792.00	1	\$310.00		\$31U.UU		\$100,230.00		φ30-1,300.00
LIFT STATIONS MOTOR TYPE: SUBMERSIBLE MODEL/FRAME TYPE: Manufacturer: ABS																	•	40.000.00	\$3,450,00	\$6,900.00
AF 90-4-4	P 230	3	12	2	\$94.50	\$189.00	\$52.50	\$105.00			\$553.00	\$1,106.00	\$10.00	\$20.00 \$30.00	\$10.00 \$5.00	\$20.00 \$30.00	\$1,450.00 \$1,150.00	\$2,900.00 \$6,900.00	\$3,450.00	\$14,400.00
AF15-4-4	P 208	3	2.6	6	\$31.50	\$189.00	\$31.50 \$52.50	\$189.00 \$210.00		\$1,656,00 \$2,912.00	\$281.00 \$285.00	\$1,686.00 \$1,140.00	\$5.00 \$10.00	\$40.00	\$10.00	\$40.00	\$1,350.00	\$5,400.00	\$2,400.00	\$10,600.00
EJ100D-4 MS	P 208 P 230	3	10 14.1	2	\$94.50 \$105.00	\$378.00 \$210.00	\$52.50 \$105.00	\$210.00	\$728.00	\$1,456.00	\$285.00	\$570.00	\$50.00	\$100.00	\$50.00	\$100.00	\$1,500.00	\$3,000.00	\$3,000.00	\$6,000.00
M105/4-23.60 M22/4-11.60	P 230	3	3	4	\$42.00	\$168.00	\$73.50	\$294.00		\$1,104.00	\$309.00	\$1,236.00	\$10.00	\$40.00	\$10.00	\$40.00	\$1,450.00	\$5,800.00	\$3,250.00	\$13,000.00
M35-4-12.60	P 230	3	4.7	2	\$31.50	\$63.00	\$42.00	\$84.00		\$552.00	\$309.00	\$618.00	\$10.00	\$20.00		\$20.00	\$1,550.00	\$3,100.00	\$3,100.00	\$6,200.00
M46/4-21.60	P 230	3	6.2	4	\$94.50	\$378.00	\$52.50	\$210.00		\$1,104.00	\$309.00	\$1,236.00	\$10.00	\$40.00	\$10.00 \$10.00	\$40.00	\$1,600.00 \$1,700.00	\$6,400.00 \$3,400.00	\$3,200.00 \$3,500.00	\$12,800.00 \$7,000.00
M75/4-22.60	P 480	3	10.1	2	\$94.50	\$189.00	\$52.50	\$105.00 \$105.00		\$1,456.00 \$1,456.00	\$285.00 \$285.00	\$570.00 \$570.00	\$10.00 \$100.00	\$20.00 \$200.00		\$20.00 \$400.00	\$1,700.00	\$3,400.00	\$3,800.00	\$7,600.00
M80/2-22.60	P 230 P 230	3	10.7 12.1	2 2	\$94.50 \$94.50	\$189.00 \$189.00	\$52.50 \$52.50	\$105.00		\$1,456.00	\$285.00	\$570.00	\$100.00	\$200.00		\$400.00	\$1,900.00	\$3,800.00	\$3,800.00	\$7,600.00
M90/4-22.60 PIRANHA 2D	P 230	3	2	2	\$21.00	\$42.00	\$21.00	\$42.00		\$552.00	\$281.00	\$562.00	\$5.00	\$10.00	\$5.00	\$10.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00
PIRANHA 3D	P 230	3	3.4	2	\$36.75	\$73.50	\$42.00	\$84.00		\$552.00	\$309.00	\$618.00	\$5.00	\$10.00		\$10.00	\$1,200.00	\$2,400.00	\$3,200.00	\$6,400.00 \$4,600.00
PIRV2.5W	P 230	11	2.5	2	\$31.50	\$63.00	\$31.50	\$63.00		\$552.00	\$281.00	\$562.00	\$5.00 \$5.00	\$10.00 \$10.00	\$5.00 \$5.00	\$10.00 \$10.00	\$1,100.00 \$1,050.00	\$2,200.00 \$2,100.00	\$2,300.00 \$2,200.00	\$4,400.00
PIRV2D	P 230	3	2_	2	\$21.00	\$42.00	\$21.00	\$42.00	\$276.00	\$552,00	\$281.00	\$562.00	\$5.00	\$10.00	\$5.00	\$10.00	\$1,030.00	Ψ2,100.00	₩2,200.00	\$4,400.00
Manufacturer: BARNES 3SE53	P 230	1	0.5	6	\$21.00	\$126.00	\$21.00	\$126.00		\$1,056.00	\$128.00 \$128.00	\$768.00	\$5.00 \$5.00	\$30.00 \$10.00	\$5.00 \$5.00	\$30.00 \$10.00	\$195.00 \$595.00	\$1,170.00 \$1,190.00	\$495.00 \$950.00	\$2,970.00 \$1,900.00
4SE101	P 230	1	1.9 11.3	2	\$157.50 \$315.00	\$315.00 \$630.00	\$94.50 \$199.50	\$189.00 \$399.00			\$128.00 \$285.00	\$256.00 \$570.00		\$40.00		\$200.00	\$1,095.00	\$2,190.00		\$3,600.00
4SE11334L 4SE1424L	P 230 P 230	3	11.3	6	\$315.00	\$126.00	\$31.50	\$189.00			\$128.00	\$768.00		\$30.00		\$30.00	\$545.00	\$3,270.00		\$5,550.00
4SE15034L	P 230	1 3	15	2	\$393.75	\$787.50	\$210.00	\$420.00			\$285.00	\$570.00		\$10.00	\$5.00	\$10.00	\$1,195.00	\$2,390.00		\$3,990.00
4SE151	P 230	1	2_	4	\$157.50	\$630.00	\$84.00	\$336.00		\$1,004.00	\$149.00	\$596.00		\$20.00		\$20.00	\$595.00	\$2,380.00		\$3,800.00
4SE153	P 230	3	2.8	4	\$42.00	\$168.00	\$42.00	\$168.00		\$1,632.00	\$149.00	\$596.00 \$768.00		\$20.00 \$30.00		\$20.00 \$30.00	\$695.00 \$595.00	\$2,780.00 \$3,570.00		\$4,780.00 \$5,700.00
4SE1924L	P 230	1 1	1.9 1.9	6 2	\$94.50 \$94.50	\$567.00 \$189.00	\$52.50 \$52.50	\$315.00 \$105.00			\$128.00 \$128.00	\$768.00		\$30.00		\$10.00	\$595.00	\$1,190.00		\$1,900.00
4SE1926L 4SE201	P 230 P 230	+ 1	2	4	\$199.50	\$798.00	\$84.00	\$336.00			\$149.00	\$596.00		\$20.00	\$5.00	\$20.00	\$595.00	\$2,380.00	\$950.00	\$3,800.00
4SE203	P 230	3	3.7	10	\$52.50	\$525.00	\$63.00	\$630.00	\$421.00	\$4,210.00	\$149.00	\$1,490.00	\$10.00	\$100.00		\$100.00	\$795.00	\$7,950.00		\$13,950.00
4SE2824L	P 230	1	2.8	18	\$52.50	\$945.00	\$84.00	\$1,512.00			\$149.00	\$2,682.00		\$1,800.00		\$4,500.00	\$695.00	\$12,510.00 \$7,160.00		\$21,510.00 \$12,760.00
4SE302DS	P 230	3	5	8	\$42.00	\$336.00	\$42.00	\$336.00			\$166.00	\$1,328.00 \$512.00		\$80.00 \$400.00		\$80.00 \$800.00	\$895.00 \$795.00	\$7,160.00 \$3,180.00		\$12,780.00 \$5,580.00
4SE3724L	P 230	1 1	3.7	4 2	\$52.50 \$42.00	\$210.00 \$84.00	\$63.00 \$42.00	\$252.00 \$84.00		\$704.00 \$842.00	\$128.00 \$149.00	\$298.00		\$20.00		\$20.00	\$895.00	\$1,790.00		\$3,190.00
4SE5024L 4SE924L	P 230	1 1	5 0.9	4	\$42.00 \$21.00		\$42.00	\$84.00				\$596.00		\$20.00		\$20.00	\$595.00	\$2,380.00	\$1,095.00	\$4,380.00
4SE-EDS	P 230	3	2.7	2	\$42.00		\$42.00	\$84.00	\$421.00		\$149.00	\$298.00	\$5.00	\$10.00	\$5.00	\$10.00	\$695.00	\$1,390.00		\$2,390.00
4SEH1002	P 230	3	15	2	\$393.75	\$787.50	\$210.00	\$420.00			\$159.00	\$318.00		\$20.00		\$20.00	\$1,400.00	\$2,800.00		\$5,000.00 \$3,190.00
4SEH301	P 230	1	4.5	2	\$31.50		\$42.00	\$84.00			\$149.00	\$298.00		\$10.00		\$10.00 \$20.00	\$895.00 \$1,095.00	\$1,790.00 \$4,380.00		\$3,190.00 \$7,580.00
4SEH502	P 230	3	7.5	4	\$126.00	\$504.00	\$94.50 \$199.50	\$378.00 \$798.00	\$421.00 \$421.00		\$159.00 \$159.00	\$636.00 \$636.00		\$20.00 \$20.00		\$20.00	\$1,300.00	\$4,380.00		\$9,200.00
4SEH752 4XSE30044EA	P 230 P 460	3	11.5 30	4 2	\$315.00 \$532.35	\$1,260.00 \$1,064.70		\$1,852.20		\$1,004.00	\$159.00	\$318.00		\$20.00		\$20.00	\$1,700.00	\$3,400.00		\$5,800.00
6SE30044EA	P 460	3 -	30	2	\$532.35	\$1,064.70		\$1,852.20			\$159.00	\$318.00		\$20.00	\$10.00	\$20.00	\$1,700.00	\$3,400.00		\$5,800.00
6SE36044HL	P 460	3	36	7	\$315.00	\$2,205.00		\$1,102.50	\$421.00		\$159.00	\$1,113.00	\$10.00	\$70.00		\$70.00	\$2,500.00	\$17,500.00		\$31,500.00
6SE48044HL	P 460	3	48	2	\$840.00			\$630.00		\$842.00	\$159.00	\$318.00		\$40.00		\$40.00	\$3,200.00	\$6,400.00		\$11,400.00 \$2,790.00
SG203	P 230	3	2	2	\$21.00	\$42.00	\$31.50	\$63.00	\$421.00	\$842.00	\$159.00	\$318.00	\$5.00	\$10.00	\$5.00	\$10.00	\$795.00	\$1,590.00	\$1,395.00	<u> </u>

Michael Mich	BIC IFB #09-1403JS REPAIR /	TABULATION REFURBISH PU	MP & PUM	Р МОТО	RS		Tampa Armatu 6312 7 Riverview,	8th St. FL 33578			7260 15th Bradenton, 941-360	St. East FL 34243			Mader Electric 18161 N. Ta N. Ft. Myers 239-73	miami Trail s, FL 33903		As	1155 Catt Sarasota,	Pump Service, II Iemen Rd. FL 34232 7-4373	nc.
No. Proc.							ION PUMP/				ON PUMP/					DEMAND	нотоп	H .		1	MOTOR
Monther Toky Program				1	<u> </u>	PUMP N		REWIND		PUMP N		REWIND I		PUMPN		REWIND				I	EXTENDED
		VOLTS	RPM	НР	EST. QTY.	UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE
Control Cont	Manufacturer: EBARA							****	4000.00	¢404.00	#1 CB4 00	\$150.00	\$636.00	\$10.00	\$40.00	\$10.00	\$40.00	\$1,100.00	\$4,400.00	\$1,641.00	\$6,564.00
Control Print Pr			 	5	4 2										\$10.00	\$5.00	\$10.00	\$1,500.00	\$3,000.00		\$4,350.00
Deport Sec. P. 20										\$421.00	\$842.00										\$4,000.00 \$4,800.00
Second S			1																		\$2,400.00
Property																					\$54,000.00
P P P P P P P P P P														\$5.00	\$10.00						\$4,000.00
			1					\$31.50													\$4,400.00 \$4,000.00
Defundation P 250			+																		\$2,600.00
## PAGE 3 7 2 131:00 \$60.00 \$11:00 \$15:00 \$15:00 \$15:00 \$10:00 \$27:00 \$10:00 \$20:00 \$1		P_230	1 1	2	2	\$157.50	\$315.00	\$84,00	\$168.00	\$421.00	\$642.00	\$159.00	\$310.00	\$5.00	\$10.00	40.55					
FAIL SIGN P P P P P P P P P P P P P P P P P P P		P 230	3	7	2	\$31,50	\$63.00	\$31.50	\$63.00	\$421.00	\$842.00	\$159.00									\$8,000.00
FAST PAST			3	24.1	2	\$52.50	\$105.00														\$10,600.00 \$8,800.00
FAIGH-422 P. 20 3 15 2 \$35.20 \$15.50 \$2.0 \$15.00 \$1.00	FA10.41-138																				\$8,800.00
FAILOG 222 P. 720 3 1 15 2 \$52.00 \$100.00 \$42.00 \$10.00 \$590.00 \$11.00.00 \$590.00 \$10.00 \$50.00 \$10.00 \$2.00.00 \$1																	\$10.00	\$2,600.00	\$5,200.00		\$10,200.00
FATOMORE P. 200 3 4-0 2 451.00 452.00 551.00 550.00 551.00 550.00			+									\$319.00	\$638.00	\$5.00							\$10,200.00
## PACK-529 P. 220 S P. 75 S \$10.00 \$20.00 \$52.00 \$10.00 \$20.00 \$10.00 \$20.00 \$2.65.00 \$53.00 \$10.00 \$20.00 \$2.65.00 \$53.00 \$10.00 \$20.00 \$10.00 \$20.00 \$10.00 \$20.00 \$10.00 \$2.65.00 \$10.00 \$2.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.00 \$2.65.00 \$10.00 \$2.65.00 \$2.65.00 \$10.00 \$2.65.00 \$2.65.00 \$10.00 \$2.65.00 \$2.65.00 \$10.00 \$2.65.00 \$				4.9	2	\$21.00														T-1	\$8,000.00 \$8,800.00
FAIGURE P 480 3 - 52 2 \$210.00 \$400.00 \$5,000.00 \$100.00 \$50.00 \$10.00 \$20.00 \$10.00 \$20.00 \$5,000.00 \$5,0																					\$10,600.00
Page						-															\$10,600.00
FASH-20T P 460 3 40.2 2 \$105.00 \$2,00 \$100.00 \$25.00 \$100.00 \$20.00 \$100.00 \$20.00 \$50.00 \$50.00 \$50.00 \$50.00 \$1.00 \$2.00.00 \$1.00 \$1.00 \$2.00 \$1.00					_+							\$692.00									\$9,800.00
FAD-0421 P 230 3 7.5 2 \$15.50 \$83.00 \$21.00 \$84.00 \$10.00 \$40.00 \$10.00 \$40.00 \$10.00 \$40.00 \$12.00.00 \$84.00.00 \$17.00 \$17.00 \$10.					2																\$11,800.00 \$8,000.00
FASOL 21 P 230 3 10.5 4 \$3150 \$17000 \$17000 \$17000 \$17000 \$17000 \$17000 \$17000 \$17000 \$17000 \$17000 \$17000 \$17000 \$1																					\$17,600.00
3192-180 S77 P 230 3 5 6 2 \$315.00 \$315.00 \$315.00 \$42.00 \$40.00 \$490.00 \$595.00 \$315.00 \$42.00 \$40.00 \$490.00 \$40		P 230	3	10.6	4 -	\$31.50	\$126.00	\$21.00	\$84.00	\$533.00	\$2,132.00	\$277.00	\$1,100.00	\$10.00	\$ 10.00	\$10.00	V.U.UU				
\$\frac{1325-180}{1327-181}\$\frac{9}{200}\$\frac{3}{3}\$\frac{9}{4}\$\frac{2}{2}\$\frac{55775}{5}\$\frac{1550}{5}\$\frac{9}{24200}\$\frac{54800}{5}\$\frac{58400}{5}\$\frac{59800}{5}\$\f		P 230	3	5	2	\$315.00	\$630.00	\$157.50	\$315.00	\$422.00	\$844.00	\$179.00	\$358.00								\$3,580.00
S127-181			3	9.4	2																\$5,000.00 \$4,600.00
ACP30065			3																		\$4,800.00
\$\frac{\frac{0}{3}\fra			1 1																		\$4,400.00
C3101494			1																		\$4,700.00
\$\frac{1}{2016}\$-180\$\$ P 230 \$ 3 \ 9.4 \$ 6 \ \$57.75\$ \$346.50 \$\$42.00 \$\$252.00 \$3493.00 \$\$2,986.00 \$\$1,2780.00 \$\$1,2780.00 \$\$1,000.00 \$\$3,000.00 \$\$1,000.00 \$\$3,000.00 \$\$1,000.00 \$\$3,000.00 \$\$1,000.00 \$\$3,000.00 \$\$1,000.00 \$\$3,000.00 \$\$1,000.00 \$\$3,000.00 \$\$1,000.00 \$\$3,000.00 \$\$1,000.00 \$\$3,000.00 \$\$1,000.00 \$\$3,000.00 \$\$1,000.00			3							\$422.00											\$13,800.00 \$15,000.00
CT 3231 665		P 230														****					\$25,500.00
Cf 3331.700 P 460 3 155 3 \$1,930.00 \$5,300.00 \$5,300.00 \$11,900.00 \$3,950.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00				-																	\$29,400.00
Classic Clas																\$1,500.00					\$34,800.00
NP 3153 SH P 460 3 23 2 \$361.20 \$72.40 \$697.20 \$1,394.40 \$863.00 \$1,726.00 \$765.00 \$1,530.00 \$50.00 \$1,000.00 \$1,000.00 \$2,000.00 \$2,000.00 \$3,000.00 \$3,000.00 \$4,000 \$50.00 \$1,000.00 \$4,000 \$50.00 \$1,000.00 \$4,0												1 1 1									\$21,600.00 \$9,000.00
WS2012DXN P 230 1 1 5 4 \$10.50 \$42.00 \$10.50 \$42.00 \$10.50 \$42.00 \$10.50 \$42.00 \$10.50 \$42.00 \$10.50 \$42.00 \$10.00 \$596.00 \$10.00 \$40.00 \$50.00 \$20.00 \$800.00 \$3,200.00 \$1,697.00 \$800.00 \$1,697.00 \$800.00 \$1,697.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$1,000.0			3	23	2	\$361.20	\$722.40	\$697.20	\$1,394.40	\$863.00	\$1,726.00	\$765.00	\$1,530.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,300.00	\$4,600.00	\$4,500.00	\$9,000.00
WS2012DXN P 230 1 1.5 4 \$10.50 \$42.00 \$10.50 \$42.00 \$10.50 \$42.00 \$10.50 \$42.00 \$10.50 \$42.00 \$10.50 \$42.00 \$10.50 \$42.00 \$10.00			1	1		640.50	642.00	\$10 FO	¢42 00	\$145.00	\$580.00	\$128.00	\$512.00	\$10.00	\$40.00	\$50.00	\$200.00	\$700.00	\$2,800.00	\$1,536.00	\$6,144.00
Native Control Nati			1 1				1 1											\$800.00	\$3,200.00	\$1,697.00	\$6,788.00
AK434-260/29P/C P 460 3 29 2 \$840.00 \$1,680.00 \$315.00 \$630.00 \$885.00 \$1,770.00 \$695.00 \$1,470.00 \$100.00 \$200.00 \$400.00 \$3,500.00 \$7,000.00 \$6,400.00 \$12,400.00 \$12,400.00 \$100.00		F 230	+ '-		-	1										250.00	6400.00	\$2.500.00	\$ 7 000 00	\$6.440.00	\$12,880.00
AK434-270/34.FF/L P 480 3 34.5 2 \$840.00 \$1,680.00 \$315.00 \$863.00 \$863.00 \$1,770.00 \$715.00 \$1,70.00 \$1,40.00 \$200.00 \$400.00 \$800.00 \$3,900.00 \$7,800.00 \$6,700.00 \$1.00.00 \$2,00.00 \$400.00 \$1,00.00 \$					2																\$12,800.00
AK434-280/39F/C P 460 3 392 2 \$840.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,000.0												<u> </u>									\$13,400.00
AKX1266-427/151H/C P 460 3 151 3 \$1,323.00 \$3,969.00 \$5,250.00 \$15,750.00 \$1,195.00 \$3,585.00 \$995.00 \$2,985.00 \$300.00 \$900.00 \$500.00 \$1,500.00 \$2,000.00 \$2,000.00 \$3,000.00					3										\$300.00	\$400.00	\$1,200.00				\$28,800.00
AM1365OD/C/4/3-2 P 230 3 4 2 \$42.00 \$84.00 \$52.50 \$105.00 \$421.00 \$842.00 \$149.00 \$296.00 \$10.00 \$40.00 \$40.00 \$40.00 \$1,200.00 \$2,400.00 \$2,400.00 \$2,400.00 \$7,000 \$1,200.00 \$2,400.00 \$2,400.00 \$7,000 \$1,					3			*						<u> </u>							\$39,000.00 \$4,800.00
AM434-250/13P/C P 230 3 13.6 2 \$361.20 \$722.40 \$552.30 \$1,104.00 \$533.00 \$1,052.00 \$2,500.00 \$1,525.00 \$3,150.00 \$2,500.00 \$1,525.00 \$3,150.00 \$1,525.00 \$1,		5 000	3	4	2														1-1-1-1		
AMX434-142/2.5/DC P 230 3 4 6 \$42.00 \$5.20 \$50.00 \$408.00 \$1,495.00 \$149.00 \$894.00 \$5.00 \$30.00 \$5.00 \$1,155.00 \$6,930.00 \$1,925.00 \$1 AMX434-155-40D-C P 230 3 3 4 \$199.50 \$798.00 \$84.00 \$336.00 \$408.00 \$1,632.00 \$149.00 \$596.00 \$5.00 \$20.00 \$5.00 \$1,155.00 \$4,620.00 \$1,925.00 \$7 AMX434-155-40D-C P 230 3 4 6 \$210.00 \$1,260.00 \$102.90 \$617.40 \$408.00 \$2,448.00 \$149.00 \$894.00 \$5.00 \$30.00 \$5.00 \$30.00 \$1,155.00 \$6,930.00 \$1,925.00 \$7														-							
AMX434-155-40D-C P 230 3 4 \$199.50 \$798.00 \$84.00 \$336.00 \$408.00 \$1,632.00 \$1,90.00 \$5.00 \$20.00 \$1,155.00 \$4,620.00 \$1,155.00 \$4,620.00 \$1,925.00 \$7,000 \$1,000 \$																\$5.00	\$30.00	\$1,155.00	\$6,930.00		
MX434-155-40D-C P 230 3 4 6 \$210.00 \$1,260.00 \$102.90 \$617.40 \$408.00 \$1,49.00 \$894.00 \$5.00 \$30.00 \$5.00 \$30.00 \$1,155.00 \$0.95.00 \$1,155.00 \$1,1									 	\$408.00	\$1,632.00	\$149.00	\$596.00	\$5.00							\$7,700.00 \$11,550.00
	AMX434-155-40D-C	P 230				\$210.00	\$1,260.00	\$102.90											\$6,930.00 \$4,620.00		
AMX434-178/4.0D/C P 230 3 4 4 \$210.00 \$840.00 \$102.90 \$411.60 \$408.00 \$1,632.00 \$149.00 \$596.00 \$5.00 \$20.00 \$1,550.0 \$400.00 \$1,550.0 \$400.00 \$1,550.0 \$7	AMX434-178/4.0D/C	P 230	-																		
MX434-184/3-5D/C P 230 3 3.49 4 \$210.00 \$400.00 \$102.90 \$400.00 \$1,632.00 \$150.00 \$1,632.00 \$5.00 \$10.00 \$1,000 \$1,000 \$1,000 \$1,000 \$3,000 \$3,000 \$3,000 \$1				_																\$1,925.00	\$3,850.00
AMX434-184/4D/C													\$636.00	\$5.00	\$20.00						
AMX434-193-5 T-C P 230 3 5 5 10 \$262.50 \$2,625.00 \$11,025 \$1,102.50 \$408.00 \$1,590.00 \$1,000.00									\$1,102.50	\$408.00											
AMX434-193-5.1-C P 230 3 7.51 2 \$262.50 \$525.00 \$105.00 \$210.00 \$408.00 \$816.00 \$159.00 \$318.00 \$5.00 \$10.00 \$5.00 \$10.00 \$1,695.00 \$3,390.00 \$2,825.00 \$5.0					2	\$262.50	\$525.00	\$105.00	\$210.00	\$408.00	\$816.00	\$159.00	\$318.00	\$5.00	\$10.00	\$5.00	\$10.00	31,695.00	1 93,390.00	,	1 \$5,050.00

BID T IFB #09-1403JS REPAIR / RE	ABULATION FURBISH PUR	MP & PUMI	P MOTOF	RS	1.25 on Since 1					Bradenton	xel n St. East , FL 34243 0-8298			Mader Electric 18161 N. Ta N. Ft. Myers 239-73	miami Trail , FL 33903		Ass	sociated Air & F 1155 Cattl Sarasota, 941-37	FL 34232	nc.
						ION PUMP/	1-2600		RECONDIT	ON PUMP/				ION PUMP/			RECONDITION MOT	PUMP/ PUMP	DEWIND	MOTOR
		1	·	1	PUMP N	EXTENDED	REWIND	MOTOR EXTENDED	PUMP N	EXTENDED	REWIND	MOTOR EXTENDED	PUMP N	EXTENDED	REWIND	EXTENDED	1	EXTENDED		EXTENDED
	VOLTS	RPM	HP	EST. QTY.	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE \$6,800,00
AMX434-218/10.4TC	P 230	3	10.4	2	\$367.50	\$735.00	\$157.50	\$315.00	\$408.00 \$408.00	\$816.00 \$2.448.00	\$179.00 \$179.00	\$358.00 \$1,074.00	\$10.00 \$100.00	\$20.00 \$600.00	\$10.00 \$100.00	\$20.00 \$600.00	\$2,050.00 \$1,695.00	\$4,100.00 \$10,170.00	\$3,400.00 \$2,825.00	\$16,950.00
AMX434-218/7.5T/C AMX434-228/10,4T/C	P 230 P 230	3	7.5	6 4	\$52.50 \$262.50	\$315.00 \$1,050.00	\$105.00 \$126.00	\$630.00 \$504.00	\$449.00	\$1,796.00	\$189.00	\$756.00	\$5.00	\$20.00	\$5.00	\$20.00	\$2,050.00	\$8,200.00	\$3,400.00	\$13,600.00
AMX434-228/13P/C	P 230	3	10.38	4	\$262.50	\$1,050.00	\$126.00	\$504.00	\$493.00	\$1,972.00	\$189.00	\$756.00	\$100.00	\$400.00 \$20.00	\$100.00 \$5.00	\$400.00 \$20.00	\$2,280.00 \$2,050.00	\$9,120.00 \$8,200.00	\$3,800.00 \$3,400.00	\$15,200.00 \$13,600.00
AMX434-235/10.4T/L	P 230 P 460	3	10.4 10	1	\$262.50 \$262.50	\$1,050.00 \$262.50	\$126.00 \$126.00	\$504.00 \$126.00	\$422.00 \$449.00	\$1,688.00 \$449.00	\$189.00 \$179.00	\$756.00 \$179.00	\$5.00 \$5.00	\$5.00	\$5.00	\$5.00		\$2,200.00	\$3,700.00	\$3,700.00
AMX434-235/10N/C AMX434-235/10T/C	P 230	3	10	2	\$262.50	\$525.00	\$126.00	\$252.00	\$449.00	\$898.00	\$179.00	\$358.00	\$5.00	\$10.00	\$5.00	\$10.00 \$20.00	\$2,050.00 \$2,100.00	\$4,100.00 \$8,400.00	\$3,400.00 \$3,500.00	\$6,800.00 \$14,000.00
AMX434-235/13P/C	P 230	3	10.38	4	\$262.50 \$262.50	\$1,050.00 \$787.50	\$126.00 \$126.00	\$504.00 \$378.00	\$493.00 \$408.00	\$1,972.00 \$1,224.00	\$189.00 \$179.00	\$756.00 \$537.00	\$5.00 \$5.00	\$20.00 \$15.00	\$5.00 \$5.00	\$20.00 \$15.00		\$6,150.00	\$3,400.00	\$10,200.00
AMX434-250/10.4T/C AMX434-250/13P/C	P 230 P 230	3	9 <u>.92</u> 13	3 4	\$315.00	\$1,260.00	\$157.50	\$630.00	\$408.00	\$1,632.00	\$189.00	\$756.00	\$5.00	\$20.00	\$5.00	\$20.00		\$9,120.00	\$3,800.00 \$6,400.00	\$15,200.00 \$12,800.00
AMX444/28D/29PC	P 230	3	29	2	\$320.25	\$640.50	\$183.75	\$367.50	\$545.00	\$1,090.00	\$289.00 \$279.00	\$578.00 \$1,116.00		\$20.00 \$2,000.00	\$10.00 \$500.00	\$20.00 \$2.000.00	\$3,500.00 \$2,940.00	\$7,000.00 \$11,760.00	\$4,900.00	\$19,600.00
AMX444-230/29P/C AMX444-240/20P/C	P 230 P 230	3	20 20	12	\$262.50 \$262.50	\$1,050.00 \$3,150.00	\$210.00 \$210.00	\$840.00 \$2,520.00	\$535.00 \$535.00	\$2,140.00 \$6,420.00	\$279.00	\$3,348.00	\$5.00	\$60.00	\$5.00	\$60.00	\$2,700.00	\$32,400.00	\$4,500.00	\$54,000.00
AMX444-270-29P-C	P 230	3	29	3	\$262.50	\$787.50	\$210.00	\$630.00	\$545.00	\$1,635.00	\$279.00	\$837.00		\$30.00 \$1,500.00	\$10.00 \$500.00	\$30.00 \$1.500.00	\$3,000.00 \$3,000.00	\$9,000.00 \$9,000.00	\$5,000.00 \$5,000.00	\$15,000.00 \$15,000.00
AMX641-280/29P/C	P 230 P 230	3	29 20	3 2	\$262.50 \$262.50	\$787.50 \$525.00	\$210.00 \$210.00	\$630.00 \$420.00	\$545.00 \$535.00	\$1,635.00 \$1,070.00	\$299.00 \$299.00	\$897.00 \$598.00	\$500.00	\$1,500.00	\$500.00 \$10.00	\$1,500.00	\$2,700.00	\$5,400.00	\$4,500.00	\$9,000.00
AMX644-260/20P/C AMX644-280/29P/C	P 230	3	25	3	\$262.50 \$315.00	\$945.00	\$262.50	\$787.50	\$535.00	\$1,605.00	\$299.00	\$897.00	\$10.00	\$30.00	\$10.00	\$30.00	\$2,900.00 \$4,800.00	\$8,700.00 \$9,600.00	\$4,900.00 \$7,500.00	\$14,700.00 \$15,000.00
AMX644-310/39F	P 480	3	39.2	2	\$420.00	\$840.00	\$262.50 \$630.00	\$525.00 \$1,260.00	\$545.00 \$625.00	\$1,090.00 \$1,250.00	\$379.00 \$399.00	\$758.00 \$798.00	\$10.00 \$500.00	\$20.00 \$1,000.00	\$10,00 \$1,000,00	\$20.00 \$2,000.00		\$16,800.00	\$13,000.00	\$26,000.00
AMX644-370/87G/C AMX646-330/153P	P 460 P 230	3	87 15.3	2 2	\$840.00 \$105.00	\$1,680.00 \$210.00	\$105.00	\$210.00	\$495.00	\$990.00	\$279.00	\$558.00	\$10.00	\$20.00	\$10.00	\$20.00		\$6,800.00	\$5,900.00	\$11,800.00
AV432-185/30P/C	P 480	3	30	2	\$420.00	\$840.00	\$262.50	\$525.00	\$545.00	\$1,090.00	\$299.00	\$598.00 \$598.00		\$1,000.00 \$20.00	\$1,000.00 \$10.00	\$2,000.00 \$20.00		\$6,000.00 \$6,000.00	\$5,000.00 \$5,000.00	\$10,000.00 \$10,000.00
AV432-200/30/PC	P 460	3	30 38	2 2	\$420.00 \$420.00	\$840.00 \$840.00	\$262.50 \$262.50	\$525.00 \$525.00	\$545.00 \$545.00	\$1,090.00 \$1,090.00	\$299.00 \$379.00	\$758.00		\$20.00	\$10.00	\$20.00		\$8,400.00	\$7,050.00	\$14,100.00
AV432-215/38P/C GRP 118/3	P 230	3	13.1	2	\$420.00	\$840.00	\$262.50	\$525.00	\$408.00	\$816.00	\$249.00	\$498.00	\$10.00	\$20.00	\$10.00	\$20.00		\$5,200.00 \$5,200.00	\$4,440.00 \$4,440.00	\$8,880.00 \$8,880.00
GRP 118-3-C	P 230	3	13	2	\$420.00	\$840.00	\$262.50	\$525,00	\$408.00	\$816.00	\$249.00	\$498.00	\$10.00	\$20.00	\$10.00	\$20.00	\$2,000.00	\$5,200.00	\$4,440.00	\$0,000.00
Manufacturer: HYDROMATIC	P 230	3	10	2	\$262.50	\$525.00	\$126.00	\$252.00	\$408.00	\$816.00	\$249.00	\$498.00	\$300.00	\$600.00	\$300.00	\$600.00		\$2,600.00	\$3,200.00	\$6,400.00
H4H1500M3-4	P 230	3	15	4	\$126.00	\$504.00	\$105.00	\$420.00	\$408.00	\$1,632.00 \$1,347.00		\$1,196.00 \$1,197.00		\$1,200.00 \$1,200.00	\$500.00 \$600.00	\$2,000.00 \$1,800.00		\$5,600.00 \$4,800.00		\$14,400.00 \$13,200.00
H4Q2500M3-4 HPG200M2-2	P 230	3	25 2	3 4	\$525.00 \$42.00	\$1,575.00 \$168.00	\$210.00 \$42.00	\$630.00 \$168.00	\$449.00 \$176.00	\$704.00		\$596.00		\$20.00	\$5,00	\$20.00	\$590.00	\$2,360.00		\$5,600.00
HPG200M3-2	P 230	3	2	2	\$42.00	\$84.00	\$42.00	\$84.00	\$176.00	\$352.00		\$298.00			\$5.00 \$5.00	\$10.00 \$10.00		\$1,180.00 \$1,180.00		\$2,400.00 \$2,400.00
HPG200M4-2	P 460 P 230	3	5	2	\$42.00 \$210.00	\$84.00 \$840.00	\$42.00 \$105.00	\$84.00 \$420.00	\$176.00 \$196.00	\$352.00 \$784.00		\$298.00 \$636.00			\$5.00	\$20.00		\$3,800.00	\$1,950.00	\$7,800.00
HPGF500M3.4 HPGH300M3.2	P 230	3	3	2	\$63.00	\$126.00	\$105.00	\$210.00	\$176.00	\$352.00	\$159.00	\$318.00	\$5.00		\$5.00	\$10.00		\$1,800.00 \$2,400.00		\$3,800.00 \$4,800.00
HPGH750M3-2	P 230	3	7.5	2	\$210.00	\$420.00 \$126.00	\$105.00 \$105.00	\$210.00 \$210.00	\$236.00 \$176.00	\$472.00 \$352.00		\$358.00 \$298.00			\$100.00 \$5.00	\$200.00 \$10.00	* 1 - 2 - 2 - 2	\$1,700.00		\$5,000.00
S3HRC300M3-2 S3HRC500M3-2	P 230	3	5	2	\$63.00 \$210.00	\$420.00	\$105.00	\$210.00		\$392.00		\$318.00	\$5.00	\$10,00	\$5.00	\$10.00		\$1,800.00		\$5,200.00
S4A2500M4/4	P 460	3	25	2	\$525.00	\$1,050.00	\$210.00	\$420.00		\$898.00		\$598.00 \$1,116.00		\$800.00 \$1,600.00	\$400.00 \$400.00	\$800.00 \$1,600.00		\$3,000.00 \$5,600.00		\$8,400.00 \$16,000.00
S4B2000M3-4	P 230 P 460	3 -	20 25	4 2	\$420.00 \$525.00	\$1,680.00 \$1,050.00	\$262.50 \$210.00	\$1,050.00 \$420.00		\$1,632.00 \$898.00		\$598.00		\$20.00	\$50.00	\$100.00	\$1,500.00	\$3,000.00	\$4,200.00	\$8,400.00
S4B2500M4-4 S4B3000M4-4	P 460	3	30	10	\$420.00	\$4,200.00	\$262.50	\$2,625.00	\$499.00	\$4,990.00	\$299.00	\$2,990.00	\$600.00	\$6,000.00 \$1,600.00	\$600.00 \$800.00	\$6,000.00 \$1,600.00		\$16,500.00 \$3,600.00		\$46,000.00 \$10,000.00
S4B4000M4-4	P 460	3	40 50	2 4	\$525.00 \$840.00	\$1,050.00 \$3,360.00	\$210.00 \$315.00	\$420.00 \$1,260.00		\$998.00 \$1,996.00		\$958.00 \$1,916.00		\$1,600.00				\$8,400.00	\$5,800.00	\$23,200.00
S4B5000M4-4 S4HRC1000M3-4	P 460 P 230	3 _	10	2	\$262.50	\$5,360.00 \$525.00	\$126.00	\$252.00	\$408.00	\$816.00	\$249.00	\$498.00	\$10.00					\$2,600.00		\$7,200.00 \$15,200.00
S4HRC1500M3-2	P 230	3	15	4	\$420.00	\$1,680.00	\$262.50	\$1,050.00		\$1,632.00 \$1,416.00		\$1,196.00 \$1,074.00						\$5,600.00 \$7,200.00		\$15,200.00 \$15,600.00
S4HRC750M3-2 S4K2000M3-4	P 230	3	7.5	6	\$210.00 \$420.00	\$1,260.00 \$2,520.00	\$105.00 \$262.50	\$630.00 \$1,575.00		\$1,416.00 \$2,448.00		\$1,674.00	\$100.00	\$600.00	\$100.00	\$600.00	\$1,400.00	\$8,400.00	\$4,000.00	\$24,000.00
S4K2500M4-4	P 460	3	25	6	\$525.00	\$3,150.00	\$210.00	\$1,260.00	\$449.00	\$2,694.00		\$1,794.00		\$2,400.00 \$60.00	+			\$9,000.00 \$9,900.00	\$4,200.00 \$4,600.00	\$25,200.00 \$27,600.00
S4K3000M4-4	P 460	3	30	6	\$420.00 \$525.00	\$2,520.00 \$6,300.00	\$262.50 \$210.00	\$1,575.00 \$2,520.00		\$2,994.00 \$5.988.00		\$1,794.00 \$5,748.00						\$21,600.00	\$5,000.00	\$60,000.00
S4K4000M4-4 S4L2000M3-4	P 460 P 230	3	20	14	\$323.00 \$420.00		\$262.50	\$3,675.00	\$408.00	\$5,712.00	\$279.00	\$3,906.00	\$800.00	\$11,200.00				\$19,600.00 \$9,000.00		
\$4L2500M4-4	P 460	3	25	6	\$525.00	\$3,150.00 \$3,360.00				\$2,694.00 \$3,992.00								\$9,000.00		\$36,800.00
S4L3000M4-4 S4L4000M4-4	P 480 P 460	3	30 40	8 4	\$420.00 \$525.00	\$3,360.00				\$1,996.00	\$479.00	\$1,916.00	\$100.00	\$400.00	\$100.00	\$400.00	\$1,800.00	\$7,200.00	\$5,000.00	\$20,000.00
S4L4800M4-4	P 480	3	48	3	\$840.00	\$2,520.00	\$315.00	\$945.00		\$1,497.00		\$1,557.00 \$358.00						\$6,300.00 \$2,400.00		\$17,400.00 \$5,200.00
S4L750M3-4	P 230 P 460	3	7.5 20	2	\$210.00 \$420.00	\$420.00 \$840.00		\$210.00 \$525.00		\$472.00 \$816.00		\$358.00 \$558.00				\$2,000.00	\$1,400.00	\$2,800.00	\$4,000.00	\$8,000.00
S4LHRC2000M3-4 S4LRC2000M3-4	P 460 P 230	3	20	12	\$420.00	\$5,040.00	\$262.50	\$3,150.00	\$408.00	\$4,896.00	\$279.00	\$3,348.00	\$100.00	\$1,200.00				\$16,800.00 \$3,300.00		\$48,000.00 \$9,200.00
S4LRC3000M3-4	P 230	3	30	2	\$420.00	\$840.00 \$8,400.00				\$998.00 \$13,056.00		\$598.00 \$7,968.00								\$108,800.00
S4M1000M3-4 S4M1000M4-4	P 230 P 460	3 3	10	32	\$262.50 \$262.50			\$252.00				+						\$2,800.00	\$3,400.00	\$6,800.00
U-1111 10001V1-7	1 , 400		1																	

	TABULATION				Tampa Armature Works, Inc. 6312 78th St. Riverview, FL 33578 813-621-2600					Rex 7260 15th Bradenton,	St. East			Mader Electri 18161 N. Ta N. Ft. Myen	amiami Trail		As	sociated Air & F 1155 Cattl Sarasota,	emen Rd	ic.
IFB #09-1403JS REPAIR / F	REFURBISH PU	MP & PUN	IP MOTO	RS						941-360				239-73				941-37		
					RECONDIT					TION PUMP/ MOTOR	REWIND	MOTOR	RECONDIT	ION PUMP/	REWIND	MOTOR	RECONDITION	PUMP/ PUMP	REWIND	MOTOR
	1	7	<u> </u>		PUMP	EXTENDED		EXTENDED		EXTENDED	1,2,,,,,,,	EXTENDED		EXTENDED	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
	VOLTS	RPM	HP	EST. QTY.	UNIT PRICE	PRICE	UNIT PRICE	\$4,200.00	UNIT PRICE \$408.00	PRICE \$6.528.00	\$299.00	PRICE \$4,784.00	UNIT PRICE \$100.00	\$1,600.00	\$100.00	\$1,600.00	\$1,500.00	\$24,000.00	\$3,800.00	\$60,800.00
S4M1500M3-4 S4M1500M4-4	P 230 P 460	3	15 15	16	\$420.00 \$420.00	\$6,720.00 \$840.00	\$262.50 \$262.50	\$4,200.00 \$525.00	\$408.00		\$299.00	\$598.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$1,500.00	\$3,000.00	\$3,800.00 \$2,400.00	\$7,600.00 \$4,800.00
S4M300M3-4	P 230	3	3	2	\$63.00	\$126.00	\$105.00	\$210.00	\$176.00		\$149.00 \$179.00	\$298.00 \$4,296.00	\$5.00 \$300.00	\$10.00 \$7,200.00	\$5.00 \$200.00	\$10.00 \$4.800.00	\$1,200.00 \$1,300.00	\$2,400.00 \$31,200.00	\$2,400.00	\$62,400.00
S4M750M3-4	P 230	3	7.5 1.5	24	\$210.00 \$42.00	\$5,040.00 \$84.00	\$105.00 \$42.00	\$2,520.00 \$84.00	\$236.00 \$236.00	\$5,664.00 \$472.00	\$179.00	\$298.00	\$5.00	\$10.00	\$5.00	\$10.00	\$890.00	\$1,780.00	\$1,800.00	\$3,600.00
S4MN150M2-6 S4MN500M3-4	P 230 P 230	3	5	2	\$210.00	\$420.00	\$105.00	\$210.00	\$236.00		\$159.00	\$318.00	\$300.00	\$600.00	\$300.00	\$600.00	\$1,090.00	\$2,180.00	\$2,400.00 \$3,400.00	\$4,800.00 \$6,800.00
S4MRC1000M3-4	P 230	3	10	2	\$262.50	\$525.00	\$126.00	\$252.00		\$816.00	\$249.00	\$498.00	\$10.00	\$20.00	\$10.00 \$10.00	\$20.00 \$20.00	\$1,400.00 \$1,400.00	\$2,800.00 \$2,800.00	\$3,400.00	\$6,800.00
S4MRCLC1000M3-4	P 230	3	10	2	\$262.50	\$525.00 \$525.00	\$126.00 \$126.00	\$252.00 \$252.00	\$408.00 \$408.00		\$249.00 \$249.00	\$498.00 \$498.00	\$10.00 \$10.00	\$20.00 \$20.00	\$10.00	\$20.00	\$1,400.00	\$2,800.00	\$3,400.00	\$6,800.00
S4MX1000JC S4N1000M3-4	P 230	3	10	4	\$262.50 \$262.50	\$1,050.00	\$126.00	\$504.00			\$249.00	\$996.00	\$10.00	\$40.00	\$10.00	\$40.00	\$1,400.00	\$5,600.00	\$3,400.00	\$13,600.00
S4N1500M3-4	P 230	3	15	2	\$420.00	\$840.00	\$262.50	\$525.00	\$408.00		\$299.00	\$598.00	\$10.00	\$20.00	\$10.00	\$20.00	\$1,500.00 \$1,200.00	\$3,000.00 \$2,400.00	\$3,800.00 \$2,500.00	\$7,600.00 \$5.000.00
S4N150M2-6	P 230	1	1.5	2	\$42.00	\$84.00	\$42.00	\$84.00			\$179.00 \$179.00	\$358.00 \$358.00	\$5.00 \$5.00	\$10.00 \$10.00	\$5.00 \$5.00	\$10.00 \$10.00	\$1,200.00	\$2,400.00	\$2,400.00	\$4,800.00
S4N150M3-6	P 230	3	1.5	2	\$42.00 \$42.00	\$84.00 \$84.00	\$42.00 \$42.00	\$84.00 \$84.00			\$149.00	\$298.00	\$5.00	\$10.00	\$5.00	\$10.00	\$1,200.00	\$2,400.00	\$2,500.00	\$5,000.00
S4N200M2.4 S4N200M2-6	P 230	+ ;	2	4	\$42.00	\$168.00	\$42.00	\$168.00			\$149.00	\$596.00	\$5.00	\$20.00	\$5.00	\$20.00	\$1,200.00	\$4,800.00	\$2,500.00	\$10,000.00
S4N200M3-4	P 230	3	2	36	\$42.00	\$1,512.00	\$42.00	\$1,512.00			\$149.00	\$5,364.00	\$5.00	\$180.00	\$5.00	\$180.00 \$600.00	\$1,200.00 \$1,200.00	\$43,200.00 \$2,400.00	\$2,400.00 \$2,400.00	\$86,400.00 \$4,800.00
S4N200M4-4	P 460	3	2	2	\$42.00	\$84.00	\$42.00	\$84.00			\$149.00 \$149.00	\$298.00 \$596.00	\$100.00 \$10.00	\$200.00 \$40.00	\$300.00 \$10.00	\$40.00	\$1,200.00	\$4,800.00	\$2,600.00	\$10,400.00
S4N300M2.4	P 230 P 230	1 3	3 3	40	\$63.00 \$63.00	\$252.00 \$2,520.00	\$105.00 \$105.00	\$420.00 \$4,200.00			\$149.00	\$5,960.00	\$10.00	\$400.00	\$10.00	\$400.00	\$1,200.00	\$48,000.00	\$2,600.00	\$104,000.00
S4N300M3-4 S4N300M3-6	P 230	3	3	2	\$63.00	\$126.00	\$105.00	\$210.00			\$149.00	\$298.00	\$200.00	\$400.00	\$300.00	\$600.00	\$1,200.00	\$2,400.00	\$2,400.00	\$4,800.00 \$5,400.00
S4N500M2-4	P 230	1	5	2	\$210.00	\$420.00	\$105.00	\$210.00			\$179.00	\$358.00	\$100.00 \$300.00	\$200.00 \$29.400.00	\$300.00 \$200.00	\$600.00 \$19,600.00	\$1,200.00 \$1,200.00	\$2,400.00 \$117,600.00	\$2,700.00 \$2,700.00	\$264,600.00
S4N500M3-4	P 230	3	5	98	\$210.00	\$20,580.00 \$1,417.50	\$105.00 \$131.25	\$10,290.00 \$787.50			\$179.00 \$199.00	\$17,542.00 \$1,194.00	\$5.00	\$29,400.00	\$5.00	\$30.00	\$1,250.00	\$7,500.00	\$2,700.00	\$16,200.00
S4N600M3-4	P 230 P 230	3	7.5	6 22	\$236.25 \$210.00	\$1,417.50 \$4,620.00	\$131.25				\$179.00	\$3,938.00	\$100.00	\$2,200.00	\$100.00	\$2,200.00	\$1,250.00	\$27,500.00	\$2,750.00	\$60,500.00
S4N750M3-4 S4N75M3-6	P 230	3	0.75	6	\$42.00	\$252.00	\$42.00			\$1,056.00	\$149.00	\$894.00	\$5.00	\$30.00	\$5.00	\$30.00	\$1,200.00	\$7,200.00 \$2,400.00	\$2,400.00 \$2,500.00	\$14,400.00 \$5,000.00
S4NRC150M2-6	P 230	1	1.5	2	\$42.00	\$84.00	\$42.00				\$149.00 \$179.00	\$298.00 \$358.00	\$5.00 \$100.00	\$10.00 \$200.00	\$5.00 \$1,000.00	\$10.00 \$2.000.00	\$1,200.00 \$1,250.00	\$2,500.00	\$2,750.00	\$5,500.00
S4NRC750M3-2	P 230	3 3	7.5	2 2	\$210.00 \$210.00	\$420.00 \$420.00	\$105.00 \$105.00				\$179.00	\$358.00	\$10.00	\$20.00	\$10.00	\$20.00	\$1,200.00	\$2,400.00	\$2,700.00	\$5,400.00
S4NX500M3-4 S4P1000M3-4	P 230	3	10	42	\$262.50	\$11,025.00					\$249.00	\$10,458.00		\$4,200.00	\$100.00	\$4,200.00	\$1,400.00	\$58,800.00	\$3,400.00	\$142,800.00
S4P1000M4-4	P 460	3	10	2	\$262.50	\$525.00					\$249.00	\$498.00	\$500.00	\$1,000.00 \$3,000.00	\$500.00 \$100.00	\$1,000.00 \$3,000.00	\$1,400.00 \$1,500.00	\$2,800.00 \$45,000.00	\$3,400.00 \$3,800.00	\$6,800.00 \$114,000.00
S4P1500M3-4	P 230	3	15	30	\$315.00	\$9,450.00					\$299.00 \$179.00	\$8,970.00 \$3,222.00		\$1,800.00	\$100.00	\$1,800.00	\$1,200.00	\$21,600.00	\$2,700.00	\$48,600.00
S4P500M3-4 S4P750M3-4	P 230 P 230	3 3	7.5	18 42	\$210.00 \$210.00	\$3,780.00 \$8,820.00		+ + + + + + + + + + + + + + + + + + +			\$179.00	\$7,518.00		\$420.00	\$10.00	\$420.00	\$1,250.00	\$52,500.00	\$2,850.00	\$119,700.00
S4Q1500M4-4	P 460	3	15	6	\$315.00	\$1,890.00			\$408.0		\$299.00			\$60.00	\$10.00	\$60.00	\$1,500.00 \$1,600.00	\$9,000.00 \$9,600.00	\$3,800.00 \$4,100.00	\$22,800.00 \$24,600.00
S4Q2000M3-4	P 230	3	20	6	\$420.00	\$2,520.00					\$279.00 \$279.00			\$600.00 \$400.00	\$100,00 \$100,00	\$600.00 \$400.00	\$1,600.00	\$6,400.00	\$4,100.00	\$16,400.00
S4Q2000M4-4	P 460	3	20	10	\$420.00 \$525.00	\$1,680.00 \$5,250.00					\$279.00			\$1,000.00	\$100.00	\$1,000.00	\$1,700.00	\$17,000.00	\$4,300.00	\$43,000.00
S4Q2500M4-4 S4Q3000M4-4	P 460 P 460	3	30	10	\$420.00	\$4,200.00	\$262.50	\$2,625.00			\$299.00	\$2,990.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$1,800.00	\$18,000.00	\$4,600.00	\$46,000.00
S4T1000M4-4	P 460	3	100	2	\$997.50	\$1,995.00	\$525.00				\$979.00		\$1,000.00	\$2,000.00		\$4,000.00 \$200.00		\$6,800.00 \$4,800.00	\$6,800.00 \$5,800.00	\$13,600.00 \$11,600.00
S4T5000M4-4	P 460	3	50	2	\$840.00	\$1,680.00					\$479.00 \$479.00	\$958.00 \$958.00	\$100.00 \$100.00	\$200.00 \$200.00		\$200.00	\$2,400.00	\$5,400.00	\$6,100.00	\$12,200.00
S4T6000M4-4	P 460	3 3	60 75	3	\$892.50 \$945.00	\$1,785.00 \$2,835.00					\$529.00			\$3,000.00		\$6,000.00	\$3,100.00	\$9,300.00	\$6,500.00	\$19,500.00
S4T7500M4-4 S6A2500M4-4	P 460	3	25	5	\$525.00	\$2,625.00			\$449.0	0 \$2,245.00	\$299.00	\$1,495.00	\$100.00	\$500.00		\$500.00		\$8,500.00	\$4,300.00	\$21,500.00 \$9,200.00
S6A3000N3-4	P 230	3	30	2	\$525.00	\$1,050.00	\$210.00				\$299.00	\$598.00		\$200.00 \$200.00		\$1,000.00 \$2,000.00	\$1,800.00 \$2,100.00	\$3,600.00 \$4,200.00	\$4,600.00 \$5,000.00	\$9,200.00
S6A4000M4-4	P 460	3	40	2	\$787.50	\$1,575.00					\$299.00 \$299.00	\$598.00 \$598.00	\$100.00 \$10.00			\$2,000.00	\$2,400.00	\$4,800.00	\$5,800.00	\$11,600.00
S6A5000M4-4 S6L1500M3-4	P 460 P 230	3	15	4	\$787.50 \$315.00	\$1,575.00 \$1,260.00					\$299.00			\$40.00	\$10.00	\$40.00	\$1,600.00	\$6,400.00	\$3,800.00	\$15,200.00
S6L2000M3-4	P 230	3	20	2	\$420.00	\$840.00		\$525.00		0 \$816.00	\$279.00	\$558.00		\$200.00		\$800.00		\$3,400.00	\$4,100.00 \$4,100.00	\$8,200.00 \$12,300.00
S6L2000M4-4	P 480	3	20	3	\$420.00						\$279.00 \$299.00		\$100.00 \$100.00	\$300.00 \$400.00	\$100.00 \$100.00	\$300.00 \$400.00		\$5,100.00 \$8,400.00	\$5,000.00	\$20,000.00
S6L4000M4-4	P 480	3	40	4	\$787.50						******			*				\$31,200.00		\$69,600.00
S6L4800M4-4 S6L5000M4-4	P 480 P 460	3	48 50	12	\$840.00 \$840.00							\$1,794.00	\$100.00	\$600.00	\$100.00	\$600.00	\$2,800.00	\$16,800.00	\$6,000.00	
S6LX4000F0	P 480	3	40	3	\$787.50	\$2,362.50	\$283.50	\$850.50	\$499.0	0 \$1,497.00	\$299.00							\$8,400.00 \$10,500.00	\$5,200.00 \$7,000.00	\$15,600.00 \$21,000.00
SD4T10000M4.4	P 480	3_	100	3	\$945.00										\$100.00 \$5.00			\$10,500.00		\$5,000.00
SH300M3-4	P 230	3	3	2	\$63.00 \$42.00	\$126.00 \$84.00										· · · · · · · · · · · · · · · · · · ·		\$2,200.00	\$2,300.00	\$4,600.00
SH75M3-6 SPG200M2-2	P 230 P 230	1	0.75	2	\$42.00						\$149.00	\$298.00	\$5.00	\$10.00	\$5.00			\$1,960.00		
SPG200M3-2	P 230	3	2	8	\$0.00	\$0.00	\$42.00	\$336.00	\$176.0									\$8,640.00 \$2,360.00		
SPG300M3-2	P 230	3	3	2	\$42.00													\$2,360.00		\$3,960.00
SPGF500M3-4	P 230	3	7.5	2 2	\$63.00 \$210.00												_			\$4,400.00
SPGF750M3-4	P 230	3	1 /.5		JL \$210.00	1 \$420.00	1 4100.00	ψ2.10.00	- W200.0	-, -, -, -, -, -, -, -, -, -, -, -, -, -, -										

PIN T	ABULATION					Tampa Armatu 6312 7	ure Works, Inc.			Re:				Mader Electri	•		As	ssociated Air & F		nc.
IFB #09-1403JS REPAIR / RE		IP & PUM	P MOTOR	RS		Riverview,	FL 33578			Bradenton,	FL 34243			N. Ft. Myers	s, FL 33903			Sarasota, 941-37		
						813-62	1-2600		DECONDIT	941-36	0-8298		RECONDIT	239-73	1-5455		RECONDITIO	N PUMP/ PUMP	7-373	
					RECONDIT				RECONDIT		REWIND	MOTOR	PUMP N		REWIND	MOTOR		TOR	REWIND	MOTOR
	1			γ	PUMPN	EXTENDED	REWIND	EXTENDED	1 7 7	EXTENDED	KEVIND	EXTENDED	7.54	EXTENDED	1	EXTENDED		EXTENDED		EXTENDED
	VOLTS	RPM	HP	EST. QTY.	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE
SPGH500M3-2	P 230	3	5	4	\$210.00	\$840.00	\$105.00	\$420.00	\$196.00	\$784.00	\$159.00	\$636.00	\$10.00	\$40.00	\$10.00	\$40.00	\$980.00	\$3,920.00	\$1,980.00	\$7,920.00 \$16,100.00
SPGH750M3-2	P 230	3	7.5	7	\$210.00	\$1,470.00	\$105.00	\$735.00	\$236.00	\$1,652.00	\$179.00	\$1,253.00	\$10.00	\$70.00	\$10.00	\$70.00	\$1,180.00 \$1,080.00	\$8,260.00 \$6,480.00	\$2,300.00 \$2,100.00	\$12,600.00
SPGL200M3-2	P 230	.3	2	6	\$42.00	\$252.00	\$42.00	\$252.00	\$176.00	\$1,056.00	\$149.00	\$894.00	\$10.00 \$10.00	\$60.00 \$20.00	\$10.00 \$10.00	\$60.00 \$20.00	\$1,080.00	\$2,160.00	\$2,100.00	\$4,200.00
SPGL200M6-2	P 208	3	2	2	\$42.00	\$84.00	\$42.00	\$84.00	\$176.00	\$352.00	\$149.00	\$298.00	\$10.00	\$20.00	\$10.00	\$20.00	\$1,000.00	42,100,00		
Manufacturer: IMPEL LD100-104-205W	P 230	3	10	,	\$262.50	\$525.00	\$126.00	\$252.00	\$408.00	\$816.00	\$249.00	\$498.00	\$10.00	\$20.00	\$10.00	\$20.00	\$1,600.00	\$3,200.00	\$3,400.00	\$6,800.00
LD-100-104-210W	P 230	3	10	6	\$262.50	\$1,575.00	\$126.00	\$756.00	\$408.00	\$2,448.00	\$249.00	\$1,494.00	\$10.00	\$60.00	\$10.00	\$60.00	\$1,700.00	\$10,200.00	\$3,400.00	\$20,400.00
LD-151-104-191W	P 230	3	10	4	\$262.50	\$1,050.00	\$126.00	\$504.00	\$408.00	\$1,632.00	\$249.00	\$996.00	\$10.00	\$40.00	\$10.00	\$40.00	\$1,600.00	\$6,400.00	\$3,400.00	\$13,600.00
LD-151-304-245W	P 230	3	30	4	\$420.00	\$1,680.00	\$262.50	\$1,050.00	\$499.00	\$1,996.00	\$299.00	\$1,196.00	\$10.00	\$40.00	\$10.00	\$40.00	\$2,800.00	\$11,200.00 \$2,400.00	\$5,500.00 \$2,400.00	\$22,000.00 \$4,800.00
LU-100-034-146W	P 230	3	3	2	\$63.00	\$126.00	\$105.00	\$210.00	\$176.00	\$352.00	\$159.00	\$318.00	\$10.00	\$20.00 \$20.00	\$10.00 \$10.00	\$20.00 \$20.00	\$1,200.00 \$1,200.00	\$2,400.00	\$2,400.00	\$4,800.00
LU-100-054-160W	P 230	3	3	2	\$63.00	\$126.00	\$105.00	\$210.00	\$176.00	\$352.00	\$159.00	\$318.00 \$837.00	\$10.00 \$10.00	\$20.00	\$10.00	\$30.00	\$2,500.00	\$7,500.00	\$4,500.00	\$13,500.00
LU-100-204-264W	P 480	3	20	3	\$420.00	\$1,260.00	\$262.50	\$787.50	\$408.00	\$1,224.00	\$279.00	\$637.00	\$10.00	\$30.00	Ψ10.00	\$55.00	\$2,555.00	¥.1555.00	7.,	
Manufacturer: MARLOW 4DWS1F3A2D1D	P 230	1	1.5	6	\$42.00	\$252.00	\$42.00	\$252.00	\$176.00	\$1,056.00	\$149.00	\$894.00	\$5.00	\$30.00	\$5.00	\$30.00	\$650.00	\$3,900.00	\$1,700.00	\$10,200.00
4DWSIF3A2D1D 4DWSIF3A2E1D	P 230	1	5.63	6	\$236.25	\$1,417.50	\$131.25	\$787.50	\$236.00	\$1,416.00	\$179.00	\$1,074.00	\$5.00	\$30.00	\$5.00	\$30.00	\$650.00	\$3,900.00	\$1,700.00	\$10,200.00
Manufacturer: MYERS	1 200	· ·		1	1										1			ar 040 00	64 000 00	\$11,940.00
4V100M4-23A	P 230	3	10	6	\$262.50	\$1,575.00	\$126.00	\$756.00	\$408.00	\$2,448.00	\$249.00	\$1,494.00	\$10.00	\$60.00	\$5.00	\$30.00 \$20.00	\$890.00 \$800.00	\$5,340.00 \$3,200.00	\$1,990.00 \$1,800.00	\$11,940.00 \$7,200.00
4V15M6-23A	P 230	3	1.5	4	\$42.00	\$168.00	\$42.00	\$168.00	\$176.00	\$704.00	\$149.00	\$596.00	\$5.00 \$5.00	\$20.00 \$40.00	\$5.00 \$5.00	\$40.00	\$850.00	\$6,800.00	\$1,850.00	\$14,800.00
4V30M4-23A	P 230	3	3	8	\$63.00	\$504.00	\$105.00 \$105.00	\$840.00 \$630.00	\$176.00 \$196.00	\$1,408.00 \$1,176.00	\$159.00 \$159.00	\$1,272.00 \$954.00		\$30.00	\$5.00	\$30.00	\$890.00	\$5,340.00	\$1,890.00	\$11,340.00
4V50M4-23A	P 230 P 230	3	5 7.5	6	\$210.00 \$210.00	\$1,260.00 \$1,260.00	\$105.00	\$630.00		\$1,416.00	\$179.00	\$1,074.00		\$30.00	\$5.00	\$30.00	\$940.00	\$5,640.00	\$1,940.00	\$11,640.00
4V75M4-23A 4VH100-M4-23A	P 230	3	10	2	\$262.50	\$525.00	\$126.00	\$252.00		\$816.00	\$249.00	\$498.00		\$1,000.00	\$500.00	\$1,000.00	\$1,040.00	\$2,080.00	\$2,100.00	\$4,200.00
4VH75M4-23A	P 230	3	7.5	4	\$210.00	\$840.00	\$105.00	\$420.00		\$944.00	\$179.00	\$716.00		\$2,000.00	\$500.00	\$2,000.00	\$990.00	\$3,960.00	\$2,000.00	\$8,000.00
6VC150M4-23	P 230	3	15	2	\$420.00	\$840.00	\$262.50	\$525.00		\$816.00	\$299.00	\$598.00	\$10.00	\$20.00	\$10.00	\$20.00	\$1,600.00	\$3,200.00	\$3,800.00	\$7,600.00 \$12,300.00
6VC200M4-23	P 230	3	20	3	\$315.00	\$945.00	\$210.00	\$630.00		\$1,224.00	\$299.00	\$897.00		\$30.00 \$20.00	\$10.00 \$10.00	\$30.00 \$20.00	\$1,700.00 \$1,050.00	\$5,100.00 \$2,100.00	\$4,100.00 \$2,100.00	\$4,200.00
6VH100-4-23	P 230	3	10	2	\$262.50	\$525.00		\$252.00 \$210.00		\$816.00 \$816.00	\$249.00 \$299.00	\$498.00 \$598.00	\$10.00 \$10.00	\$20.00	\$10.00	\$20.00	\$1,500.00	\$3,000.00	\$3,500.00	\$7,000.00
6VH150M4-23A	P 230 P 230	3	15 7.5	2	\$105.00 \$52.50	\$210.00 \$105.00	\$105.00 \$52.50	\$210.00		\$472.00	\$179.00	\$358.00		\$20.00	\$10.00	\$20.00	\$990.00	\$1,980.00	\$2,100.00	\$4,200.00
6VH75M4-23A WGH30-23-30	P 230	3	3	6	\$32.50 \$31.50	\$189.00		\$189.00		\$1,056.00	\$149.00	\$894.00		\$60.00	\$10.00	\$60.00	\$940.00	\$5,640.00	\$1,990.00	\$11,940.00
WGL20	P 230	3	2	2	\$21.00	\$42.00		\$42.00		\$352.00	\$149.00	\$298.00	\$10.00	\$20.00	\$10.00	\$20.00	\$790.00	\$1,580.00	\$1,800.00	\$3,600.00
WGL20-21	P 230	1	2	2	\$21.00	\$42.00		\$42.00		\$352.00	\$149.00	\$298.00		\$20.00	\$10.00	\$20.00	\$890.00	\$1,780.00	\$2,100.00	\$4,200.00 \$7,600.00
8VL150M8-23	P 230	3	15	2	\$105.00	\$210.00	\$105.00	\$210.00	\$408.00	\$816.00	\$299.00	\$598.00	\$10.00	\$20.00	\$10.00	\$20.00	\$1,700.00	\$3,400.00	\$3,800.00	\$7,000.00
Manufacturer: PUMPEX			405		#007 F0	#2 002 E0	\$2,442,30	\$7,326.90	\$1,995.00	\$5,985.00	\$3,975.00	\$11,925.00	\$900.00	\$2,700.00	\$700.00	\$2,100.00	\$5,500.00	\$16,500.00	\$9,800.00	\$29,400.00
K204-T-CA3391 LIFT STATIONS EXTENDED TOTALS:	P 480	3	185	3	\$997.50	\$2,992.50 \$324,307.20		\$245,777.70		\$471,261.00	\$5,375.00	\$343,960.00		\$155,960.00		\$168,550.00	***************************************	\$1,902,450.00		\$4,044,558.00
WATER TREATMENT PLANT	 		I	(2) (4) (4) (4) (4) (4) (4) (4) (4) (4) (4	1	\$524,507.20	***************************************	ψ <u>2</u> -10,711.70		41111,201.00						ĺ				
Motor Type: VERTICAL MODEL/FRAME TYPE:																				
Manufacturer: US ELECTRIC	140001465	4745	1 40	2	\$42.00	\$84.00	\$52.50	\$105.00	\$408.00	\$816.00	\$249.00	\$498.00	\$100.00	\$200.00	\$100.00	\$200.00	\$260.00	\$520.00	\$695.00	\$1,390.00
215VP 404 TPWPI	M230/460 M 460	1745 1775	100	1 1	\$42.00 \$157.50	\$157.50		\$630.00		\$995.00	\$979.00	\$979.00		\$100.00		\$100.00	\$990.00	\$990.00	\$3,900.00	\$3,900.00
445 TP	M 460	17/5	200	5	\$315.00	\$1,575.00		\$2,625.00		\$9,975.00	\$1,729.00	\$8,645.00		\$7,500.00	\$1,500.00	\$7,500.00	\$2,600.00	\$13,000.00	\$6,900.00	\$34,500.00
Manufacturer: SIEMANS - ALLIS			-					\$9,450.00	\$2,085.00	\$10,425,00	\$1,985.00	\$9,925.00	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00	\$4,500.00	\$22,500.00	\$15,000.00	\$75,000.00
507UP Manufacturer: GENERAL ELECTRIC	M 460	1180	350	5	\$861.00	\$4,305.00	\$1,090.00	\$9,450.00	\$2,065.00									****	045 000 00	#7F 000 00
6326 P24	M 460	1180	350	5	\$861.00	\$4,305.00	\$1,890.00	\$9,450.00	1	\$10,425.00		\$9,925.00		\$10,000.00	\$3,000.00 \$300.00	\$15,000.00 \$600.00	\$4,500.00 \$500.00	\$22,500.00 \$1,000.00	\$15,000.00 \$1,300.00	\$75,000.00 \$2,600.00
L326 TP16	M 460	1780	50	2	\$94.50	\$189.00		\$525.00		\$998.00	\$299.00 \$1,729.00	\$598.00 \$5,187.00		\$20.00 \$1,500.00		\$6,000.00	\$4,200.00	\$12,600.00	\$13,000.00	\$39,000.00
6318 P20	M 460	880	200 600	3 2	\$105.00 \$1,575.00	\$315.00 \$3,150.00		\$1,575.00 \$8,400.00		\$5,985.00 \$5,990.00		\$5,187.00		\$4,000.00	\$2,000.00	\$4,000.00	\$6,000.00	\$12,000.00		\$36,000.00
8337 P 30 L5011VP30	M 4160 M 4160	1180 1185	500	3	\$1,575.00 \$1,050.00			\$11,025.00			\$2,895.00	12 222	41 222 22	20 000 00	\$2,000.00	\$6,000.00	\$5,400.00	\$16,200.00	\$16,000.00	
L5011VP30	M 4160	895	250	3	\$1,050.00			\$11,025.00											\$15,000.00	
Manufacturer: BALDOR	1100														*****	***	\$47E 00	#700.00	\$400.00	\$1,600.00
184 T C	M230/460	1725	5	4	\$21.00					\$944.00		\$716.00				\$80.00 \$20.00				\$500.00
145 T C	M230/460	1725	2	2	\$15.75					\$352.00 \$176.00		\$298.00 \$149.00				\$10.00				\$195.00
56 C	M 208-230/460	1725	1_1_	1 1	\$105.00	\$105.00	\$525.00	\$525.00	\$176.00	φ170.00	<u> </u>	\$143.00	\$10.00	\$10.00	\$10.00	7.3.00	1		1	
Manufacturer: MARATHON 184 T	M230/460	1725	5	6	\$15.75					\$1,416.00						\$60.00 \$20.00				\$2,400.00 \$1,050.00
215 JMV	M230/460	1155	5	2	\$157.50	\$315.00	\$220.50	\$441.00	\$236.00	\$472.00	\$179.00	\$358.00	\$10.00	\$20.00	\$10.00	\$20.00	\$210.00	₩20.00	\$323.00	ψ1,000.00
Manufacturer: NORD 100 L	M230/460	1725	5	2	\$157.50	\$315.00	\$220.50	\$441.00	\$236.00	\$472.00	\$179.00	\$358.00	\$10.00	\$20.00	\$10.00	\$20.00	\$220.00	\$440.00	\$590.00	\$1,180.00

	ABULATION				Tampa Armature Works, Inc. 6312 78th St. Riverview, FL 33578 813-621-2600					Re : 7260 15th	St. East			Mader Electric	amiami Trail		As	ssociated Air & I	emen Rd.	ıc.
IFB #09-1403JS REPAIR / RE	EFURBISH PUN	IP & PUMF	P MOTO	RS						Bradenton, 941-36				N. Ft. Myers 239-73					FL 34232 7-4373	
					RECONDIT		1-2600		RECONDIT		J-82 9 0		RECONDIT	ION PUMP/	1-0-100		RECONDITIO	N PUMP/ PUMP		
					PUMP M		REWIND	MOTOR	PUMP M		REWIND	MOTOR	PUMP N	MOTOR	REWIND		MO	TOR	REWIND	MOTOR
				1		EXTENDED	LINET BRIGE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
LIO MOTORO	VOLTS	RPM	HP	ESI. QIY.	UNIT PRICE	PRICE	UNIT PRICE	PRICE	ONIT PRICE	PRICE	UNITERIOL	FRICE	ONTITUE	TRIOL	OHITTIMOL	11002				
Manufacturer: US MOTORS 5809 PH	M 460	713	250	1	\$1,302.00	\$1,302.00	\$5,976.60	\$5,976.60	\$2,085.00	\$2,085.00	\$1,985.00	\$1,985.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$12,800.00	\$12,800.00
Manufacturer: RELIANCE 254 T C	M230/460	1760	15	2	\$42.00	\$84.00	\$ 52.50	\$105.00	\$408.00	\$816.00	\$299.00	\$598.00	\$10.00	\$20.00	\$10.00	\$20.00	\$290.00	\$580.00	\$690.00	\$1,380.00
Manufacturer: USEM													4500.00	44 500 00	#4 000 00	\$3,000.00	\$1,100,00	\$3,300.00	\$2,900.00	\$8,700.00
405 T C V	M 460	1780	125	3	\$918.75	\$2,756.25	\$2,457.00	\$7,371.00 \$525.00		\$3,735.00 \$499.00	\$1,095.00 \$299.00	\$3,285.00 \$299.00	\$500.00 \$400.00	\$1,500.00 \$400.00	\$1,000.00 \$600.00	\$600.00	\$700.00	\$700.00	\$1,600.00	\$1,600.00
326 T P	M 460 M 460	1775 1785	50 75	1 1	\$409.50 \$504.00	\$409.50 \$504.00	\$525.00 \$651.00	\$525.00 \$651.00	\$499.00 \$825.00	\$825.00	\$715.00	\$715.00	\$600.00	\$600.00	\$900.00	\$900.00	\$950.00	\$950.00	\$2,400.00	\$2,400.00
365 T P 405 T P	M 460	1780	100	1	\$309.75	\$309.75	\$1,782.90	\$1,782.90	\$995.00	\$995.00	\$979.00	\$979.00	\$600.00	\$600.00	\$900.00	\$900.00	\$1,100.00	\$1,100.00	\$2,900.00	\$2,900.00
364 T P	M 460	1780	60	3	\$682.50	\$2,047.50	\$1,251.60	\$3,754.80	\$499.00	\$1,497.00	\$299.00	\$897.00	\$100.00	\$300.00	\$400.00	\$1,200.00	\$880.00	\$2,640.00	\$2,200.00	\$6,600.00
Manufacturer: SEW - EURODRIVE				 		. ,	,													*******
143T Manufacturer: ABS - SUBMERSIBLE	M230/460	1740	1.5	2	\$242.55	\$485.10	\$292.95	\$585.90	\$176.00	\$352.00	\$149.00	\$298.00	\$10.00	\$20.00	\$200.00	\$400.00	\$200.00	\$400.00	\$800.00	\$1,600.00
AFP - 003	P 460	1750	3	1	\$42.00	\$42.00	\$73.50	\$73.50	\$176.00	\$176.00	\$149.00	\$149.00	\$10.00	\$10.00	\$10.00	\$10.00		\$1,250.00	\$2,250.00	\$2,250.00
AFP - 003	P 460	1750	4	1	\$31.50	\$31.50	\$42.00	\$42.00	\$196.00	\$196.00	\$159.00	\$159.00	\$10.00	\$10.00	\$10.00	\$10.00	\$1,350.00	\$1,350.00	\$2,450.00	\$2,450.00
AFP 1040.1 - M35/4	P 460	1750	4.7	1	\$31.50	\$31.50	\$42.00	\$42.00	\$196.00	\$196.00	\$159.00	\$159.00	\$10.00	\$10.00	\$10.00	\$10.00	\$1,400.00	\$1,400.00	\$2,500.00	\$2,500.00
AFW 150-4-6	P 460	1750	20	1	\$105.00	\$105.00	\$199.50	\$199.50	\$408.00	\$408.00	\$279.00	\$279.00	\$200.00	\$200.00	\$500.00	\$500,00 \$500.00	\$2,100.00 \$2,350.00	\$2,100.00 \$2,350.00	\$4,100.00 \$4,400.00	\$4,100.00 \$4,400.00
AFP(K) 1547.2 - ME185/4 FM	P 460	1750	24.8	1	\$105.00	\$105.00	\$199.50	\$199.50	\$449.00	\$449.00	\$299.00	\$299.00	\$200.00	\$200.00	\$500.00	\$500.00	\$∠,350.00	ა ∠,ავ∪.00	φ4,400.00	
Manufacturer: HYDROMATIC-					2000 75	******	#040.00	#040.00	6409.00	\$408.00	\$279.00	\$279.00	\$100.00	\$100.00	\$100.00	\$100.00	\$2,000,00	\$2,000.00	\$4,000.00	\$4,000.00
5 S4L2000M4-4 87	P 460	1750	20 25	1 2	\$393.75 \$393.75	\$393.75 \$787.50	\$210.00 \$420.00	\$210.00 \$840.00	\$408.00 \$449.00	\$898.00	\$299.00	\$598.00	\$200.00	\$400.00	\$100.00	\$200.00		\$4,800.00	\$4,400.00	\$8,800.00
S6A2500 M4-4	P 460	1750	25	- 2	\$393.75	\$767.50	\$420.00	\$640.00	\$445.00	ф030.00	\$2,33.00	ψ030.00	Ψ200.00	\$100.00	\$1,00,00	<u> </u>	7=1::::			
Manufacturer: FLYGHT - SUBMERSIBLE 3152 - 120	P 460	1750	20	2	\$105.00	\$210.00	\$199.50	\$399.00	\$408.00	\$816,00	\$279.00	\$558.00	\$900.00	\$1,800.00	\$700.00	\$1,400.00	\$2,800.00	\$5,600.00	\$4,800.00	\$9,600.00
CP3102	P 460	1745	5	2	\$315.00	\$630.00	\$157.50	\$315.00		\$392.00	\$159.00	\$318.00	\$300.00	\$600.00	\$300.00	\$600.00	\$820.00	\$1,640.00	\$1,790.00	\$3,580.00
Motor Type: HORIZONTAL	,	1																		, ,
MODEL/FRAME TYPE:																				,
Manufacturer: MARATHON											****	****	040.00	\$10.00	\$10.00	\$10.00	\$197.00	\$197.00	\$425.00	\$425.00
215 T	M230/460	1745	10	1 1	\$42.00	\$42.00	\$52.50	\$52.50		\$408.00 \$2,085.00	\$249.00 \$1,985.00	\$249.00 \$1,985.00	\$10.00 \$1,000.00	\$1,000.00		\$2,000.00	\$1,800.00	\$1,800.00		\$5,900.00
447 T S	M 460	1780	300 0.75	1 1	\$1,390.20 \$42.00	\$1,390.20 \$84.00	\$4,425.75 \$52.50	\$4,425.75 \$105.00		\$352.00	\$1,965.00	\$298.00		\$10.00	\$5.00	\$10.00	\$90.00	\$180.00	\$150.00	\$300.00
56 C	M 208-230/460 M230/460	3450 1730	0.75	2 2	\$42.00	\$84.00	\$52.50	\$105.00		\$352.00	\$149.00	\$298.00		\$10.00	\$5.00	\$10.00		\$170.00	\$150.00	\$300.00
Manufacturer: RELIANCE	WIZ30/400	1/30	0.5		\$-2.00	404.00	402.50	\$100.00	V 11 0.00	\$502.00	V 1 10.00	,							1	
254 T	M230/460	1770	15	4	\$42.00	\$168.00	\$52.50	\$210.00	\$408.00	\$1,632.00	\$299.00	\$1,196.00	\$10.00	\$40.00	\$100.00	\$400.00	\$240.00	\$960.00	\$640.00	\$2,560.00
L184 T	M230/460	1750	5	3	\$21.00	\$63.00	\$42.00	\$126.00	\$196.00	\$588.00	\$159.00	\$477.00		\$30.00	\$10.00	\$30.00	\$165,00		\$400.00	\$1,200.00
256 T	M230/460	1175	10	5	\$21.00	\$105.00	\$42.00	\$210.00		\$2,040.00	\$249.00	\$1,245.00		\$50.00	\$10.00	\$50.00	\$240.00	\$1,200.00	\$595.00	\$2,975.00 \$2,590.00
284 T	M230/460	885	10	2	\$42.00	\$84.00	\$73.50	\$147.00		\$816.00	\$249.00	\$498.00		\$20.00	\$10.00	\$20.00	\$280.00	\$560.00 \$200.00	\$1,295.00 \$395.00	\$2,590.00
213 T	M230/460	1170	3	11_	\$42.00	\$42.00	\$73.50	\$73.50		\$176.00	\$159.00	\$159.00		\$10.00 \$10.00	\$100.00 \$10.00	\$100.00 \$10.00	\$200.00 \$120.00	\$120.00	\$295.00	
FC143TC	M 460	1725	1	11	\$21.00	\$21.00	\$21.00	\$21.00	\$176.00	\$176.00	\$149.00	\$149.00	\$10.00	\$10.00	\$10.00	\$10.00	\$120.00	\$120.00	\$250.00	4200.00
Manufacturer: WEG	14 000 000/400	1750	5	1 .	\$115.50	\$115.50	\$285.60	\$285.60	\$196.00	\$196.00	\$159.00	\$159.00	\$5.00	\$5.00	\$5.00	\$5.00	\$165.00	\$165.00	\$295.00	\$295,00
184 T	M 208-230/460 M 460	1750 1765	25	2	\$304.50	\$609.00	\$420.00	\$840.00		\$898.00	\$299.00	\$598.00		\$20.00		\$20.00	\$320.00	\$640.00	\$800.00	\$1,600.00
W182/4T	M 460	3460	5	1	\$115.50	\$115.50	\$285.60	\$285.60		\$196.00	\$159.00	\$159.00		\$5.00		\$5.00	\$165.00	\$165.00	\$340.00	\$340.00
Manufacturer: TECO	,00	- /52		1																0005.00
256 T	M230/460	1170	10	11	\$157.50	\$157.50	\$183.75	\$183.75	\$408.00	\$408.00	\$249.00	\$249.00	\$10.00	\$10.00	\$10.00	\$10.00	\$240.00	\$240.00	\$625.00	\$625.00
Manufacturer: US ELECTRIC										*****	*****	04 704 55	*****	64 000 00	\$200.00	\$1,800.00	\$398.00	\$2,388.00	\$995.00	\$5,970.00
286 T TE	M230/460	1775	30	6	\$52.50	\$315.00	\$105.00	\$630.00		\$2,994.00	\$299.00		\$300.00 \$500.00	\$1,800.00 \$1,000.00		\$3,000.00	\$2,800.00	\$5,600.00		\$20,800.00
1504 S	M 2300	1800	150	2	\$315.00	\$630.00	\$1,890.00	\$3,780.00 \$1,417.50		\$2,990.00 \$5,985.00	\$1,385.00 \$1,729.00			\$1,500.00		\$3,000.00	\$2,000.00	\$6,000.00	\$6,000.00	\$18,000.00
445 T	M 460	1780	200	3	\$126.00	\$378.00	\$472.50	± ±1,417.5U	\$1,990.00	\$J,505.00	\$1,125,00	Ψ0, 107.00	\$500.00	\$1,000.00	\$.,000.00	\$2,000.00	1		1	
Manufacturer: GENERAL ELECTRIC	M230/460	1175	20	6	\$31.50	\$189.00	\$52.50	\$315.00	\$408.00	\$2,448.00	\$279.00	\$1,674.00	\$100.00	\$600.00	\$100.00	\$600.00	\$438.00	\$2,628.00		\$6,570.00
145 T	M115/230	1725	1.5	1	\$10.50	\$10.50				\$236.00	\$149.00		\$5.00			\$5.00		\$125.00		\$225.00
8155 S	M 2300	1765	300	1 1	\$367.50	\$367.50				\$2,085.00	\$1,985.00	\$1,985.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$3,600.00	\$3,600.00	\$11,000.00	\$11,000.00
Manufacturer: US MOTORS				1															#0.400.00	60 400 00
447 T S	M 460	890	150	1	\$997.50	\$997.50	\$2,778.30	\$2,778.30		\$1,495.00	\$1,385.00			\$200.00		\$900.00				\$9,400.00 \$33,600.00
445 T S	M 460	890	125	4	\$834.75	\$3,339.00				\$4,980.00						\$4,000.00				\$39,800.00
5006 S	M 2300	1785	150	4	\$834.75	\$3,339.00				\$5,980.00						\$4,000.00 \$35.00				\$2,065.00
184 T - 20	M230/460	1715	5	7	\$21.00	\$147.00	\$52.50 \$52.50	\$367.50		\$1,372.00 \$196.00						\$5.00				\$295.00
184 T - 20	M230/460	1735	5	1 4	\$26.25 \$26.25	\$26.25 \$105.00	\$52.50 \$52.50	\$52.50 \$210.00		\$704.00						\$40.00				
182 T - 20	M230/460 M 208-230-460	1725	5	4	\$26.25	\$105.00		\$210.00		\$784.00		· -								\$1,180.00
184 T	141 200-23U-46U	1740	ıÿ		JL \$20.23	\$100.00	ψ02.00	72 10.00	#100.00	2.01.30			<u> </u>							

BID IFB #09-1403JS REPAIR / R	TABULATION EFURBISH PUN	MP&PUM	P MOTOF	RS	Tampa Armature Works, Inc. 6312 78th St. Riverview, FL 33578 813-621-2600 RECONDITION PUMP/ PUMP MOTOR REWIND MO					7260 15th Bradenton, 941-36	St. East FL 34243			Mader Electric 18161 N. Ta N. Ft. Myers 239-73	amiami Trail s, FL 33903			sociated Air & F 1155 Catt Sarasota, 941-37	emen Rd. FL 34232	1С.
						ION PUMP/			RECONDIT				,,	ION PUMP/				N PUMP/ PUMP	DEWIND	MOTOR
					PUMP N		REWIND		PUMP W	EXTENDED	REWIND	EXTENDED	PUMP	EXTENDED	REWIND	EXTENDED		EXTENDED	KEWING	EXTENDED
	VOLTS	RPM	HP	EST. QTY.	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE
Manufacturer: SEW - EURODRIVE	J VOLIG	10.10	1													***	*****	\$2,400.00	\$3,000.00	\$12,000,00
DT100LA	M230/460	405-1995	5	4	\$21.00	\$84.00	\$21.00	\$84.00	\$196.00	\$784.00	\$159.00	\$636,00	\$5.00	\$20.00	\$5.00	\$20.00	\$600.00	\$2,400.00	\$3,000.00	\$12,000.00
Manufacturer: EATON 447 T DZ	M 460	1775	300	2	\$126.00	\$252.00	\$630.00	\$1,260.00	\$2,085.00	\$4,170.00	\$1,985.00	\$3,970.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00	\$1,995.00	\$3,990.00	\$6,300.00	\$12,600.00
Manufacturer: TOSHIBA	M230/460	1725	2	4	\$15.75	\$63.00	\$21.00	\$84.00	\$176.00	\$704.00	\$149.00	\$596.00	\$5.00	\$20.00	\$5.00	\$20.00	\$150.00	\$600.00	\$295.00	\$1,180.00
Manufacturer: WESTINGHOUSE							\$52.50	\$52.50	\$176.00	\$176.00	\$149.00	\$149.00	\$5.00	\$5.00	\$5.00	\$5.00	\$150.00	\$150.00	\$295.00	\$295.00
184 Manufacturer: BALDOR	M 240/480	1725	2	1	\$21.00	\$21.00	\$52,50	\$52.50	\$176.00	\$170.00	\$143.00	₩1 43.00	45.50							ŀ
184	M 208-230/460	1725	2	1	\$15.75	\$15.75	\$21.00	\$21.00	\$176.00	\$176.00	\$149.00	\$149.00	\$5.00	\$5.00	\$5.00	\$5.00	\$158.00 \$165.00	\$158.00 \$165.00	\$395.00 \$295.00	\$395.00 \$295.00
184 T	M 208-230/460	1750	5	11	\$15.75	\$15.75	\$21.00	\$21.00	\$196.00	\$196.00	\$159.00	\$159.00 \$159.00	\$5.00 \$5.00	\$5.00 \$5.00	\$5.00 \$5.00	\$5.00 \$5.00	\$165.00	\$165.00	\$295.00	\$295.00
184 T 640 M	M230/460	1725	5	1 2	\$15.75	\$15.75 \$84.00	\$21.00 \$21.00	\$21.00 \$42.00	\$196.00 \$449.00	\$196.00 \$898.00	\$159.00 \$299.00	\$598.00	\$100.00	\$200.00	\$500.00	\$1,000.00	\$340.00	\$680.00	\$800.00	\$1,600.00
284 T 145 TC	M 208-230/460 M 460	1765 3450	25 2	1 1	\$42.00 \$21.00	\$21.00	\$36.75	\$36.75	\$176.00	\$176.00	\$149.00	\$149.00	\$5.00	\$5.00	\$5.00	\$5.00	\$140.00	\$140.00	\$295.00	\$295.00
BALDOR / OEM	M 460	1725	1	1	\$21.00	\$21.00	\$36.75	\$36.75	\$176.00	\$176.00	\$149.00	\$149.00	\$5.00	\$5.00	\$5.00	\$5.00	\$140.00	\$140.00	\$295.00	\$295,00
BALDOR / OEM	M 460	1725	0.5	1	\$21.00	\$21.00	\$36.75	\$36.75	\$176.00	\$176.00	\$128.00	\$128.00	\$5.00	\$5.00	\$5.00	\$5.00	\$140.00	\$140.00	\$295.00	\$295.00
BALDOR / OEM	M 460	1725	0.25	1	\$21.00	\$21.00	\$36.75	\$3 6.75	\$176.00	\$176.00	\$128.00	\$128.00	\$5.00	\$5.00	\$5.00	\$5.00	\$140.00	\$140.00	\$295.00	\$295.00
Manufacturer: DYNAMATIC 364 TDZZ	M 460	1750	60	2	\$210.00	\$420.00	\$420.00	\$840.00	\$499.00	\$998.00	\$479.00	\$958.00	\$100.00	\$200.00	\$200.00	\$400.00	\$800.00	\$1,600.00	\$2,050.00	\$4,100.00
Manufacturer: USEM 213 T	M 208-230/460	1180	3	1	\$15.75	\$ 15.75	\$21.00	\$21.00	\$176.00	\$176.00	\$159.00	\$159.00	\$5.00	\$5.00	\$5.00	\$5.00	\$140.00	\$ 140.00	\$295.00	\$295.00
56 - 6	M230/460	1745	0.75	1 2	\$15.75	\$31.50	\$105.00	\$210.00	\$176.00	\$352.00	\$128.00	\$256.00	\$5.00	\$10.00	\$5.00	\$10.00	\$150.00	\$300.00	\$395.00	\$790.00
254 J M	M 208-230/460	1775	15	1	\$210.00	\$210.00	\$131.25	\$131.25	\$408.00	\$408.00	\$299.00	\$299.00	\$200.00	\$200.00	\$200.00	\$200.00	\$240.00	\$240.00	\$595.00	\$595.00 \$1,790.00
286 J M	M 208-230/460	1775	30	2	\$367.50	\$735.00	\$157. <u>5</u> 0	\$315.00	\$499.00	\$998.00	\$299.00	\$598.00	\$400.00	\$800.00	\$700.00	\$1,400.00	\$350.00	\$700.00	\$895.00	\$1,790.00
Manufacturer: LEESON				l .	********	4007.50	0457.50	0457.50	#400.00	\$499.00	\$299.00	\$299.00	\$400.00	\$400.00	\$700.00	\$700.00	\$350.00	\$350.00	\$895.00	\$895.00
286 J M 56J	M230/460 M 460	1760 3450	1.5	16	\$367.50 \$15.75	\$367.50 \$252.00	\$157.50 \$21.00	\$157.50 \$336.00	\$499.00 \$176.00	\$2,816.00	\$149.00	\$2,384.00	\$100.00		\$100.00	\$1,600.00	\$125.00	\$2,000.00	\$250.00	\$4,000.00
145 TC	M 208	3450	3	1	\$15.75	\$15.75	\$21.00	\$21.00	\$176.00	\$176.00	\$159.00	\$159.00	\$5.00		\$5.00	\$5.00	\$150.00	\$150.00	\$340.00	\$340.00
J145T	M 115/208-230	1140	1	4	\$15.75	\$63.00	\$21.00	\$84.00	\$176.00	\$704.00	\$149.00	\$596.00	\$5.00	\$20.00	\$5.00	\$20.00	\$120.00	\$480.00	\$250.00	\$1,000.00
Manufacturer: INGERSOLL-RAND												*****	\$50.00	\$50.00	\$200.00	\$200.00	\$360.00	\$360.00	\$950.00	\$950.00
284 T S	M230/460	3560	30	1 1	\$63.00	\$63.00	\$157.50	\$157.50	\$499.00	\$499.00 \$408.00	\$299.00 \$249.00	\$299.00 \$249.00	\$50.00 \$10.00		\$10.00	\$10.00	\$180.00	\$180.00	\$450.00	\$450.00
215 T	M230/460	1755_	10	1	\$21.00	\$21.00	\$52.50	\$52.50	\$408.00	\$400.00	\$249.00	\$245.00	\$10.00	\$10.00	<u> </u>	\$10.00	V 100.00	\$155755	V 1.5.1.==	
Manufacturer: LIMITORQUE	M230/460	1730	0.2	19	\$10.50	\$199.50	\$21.00	\$399.00	\$176.00	\$3,344.00	\$128.00	\$2,432.00	\$100.00	\$1,900.00	\$200.00	\$3,800.00	\$160.00	\$3,040.00	\$450.00	\$8,550.00
42	M230/460	1725	0.5	1	\$10.50	\$10.50	\$21.00	\$21.00	\$176.00	\$176.00	\$128.00	\$128.00			\$10.00	\$10.00	\$175.00	\$175.00	\$500.00	\$500.00
42	M 460	1730	0.33	3	\$10.50	\$31.50	\$21.00	\$63.00	\$176.00	\$528.00	\$128.00	\$384.00	\$10.00		\$10.00	\$30.00	\$170.00	\$510.00	\$480.00 \$450.00	\$1,440.00 \$3,150.00
42	M 460	1700	0.2	7	\$10.50	\$73.50	\$21.00	\$147.00		\$1,232.00	\$128.00	\$896.00	\$10.00		\$10.00 \$10.00	\$70.00 \$130.00	\$160.00 \$175.00	\$1,120.00 \$2,275.00	\$500.00	\$6,500.00
42	M230/460	3400	0.4	13	\$10.50	\$136.50	\$21.00	\$273.00	\$176.00 \$176.00	\$2,288.00 \$352.00	\$128.00 \$149.00	\$1,664.00 \$298.00			\$10.00	\$20.00	\$250.00	\$500.00	\$675.00	\$1,350.00
48	M230/460 M230/460	3450 1740	1.97	2	\$10.50 \$21.00	\$21.00 \$42.00	\$21.00 \$31.50	\$42.00 \$63.00	\$176.00	\$352.00	\$149.00	\$298.00		\$200.00	\$200.00	\$400.00	\$225.00	\$450.00		\$1,200.00
48	M230/460 M230/460	870	0.17	9	\$15.75	\$141.75	\$21.00	\$189.00	\$176.00	\$1,584.00	\$128.00	\$1,152.00	\$10.00	\$90.00	\$10.00		\$170.00	\$1,530.00	\$490.00	\$4,410.00
48	M230/460	1725	1.64	1	\$115.50	\$115.50	\$210.00	\$210.00	\$176.00	\$176.00	\$149.00	\$149.00	\$10.00	\$10.00				\$150.00		\$600.00
48	M230/460	3465	0.4	5	\$115.50	\$577.50	\$210.00	\$1,050.00	\$176.00	\$880.00	\$128.00	\$640.00	\$10.00	\$50.00		\$50.00		\$875.00		\$2,500.00 \$1,500.00
48	M230/460	1725	0.49	3	\$115.50	\$346.50	\$210.00	\$630.00	\$176.00	\$528.00	\$128.00	\$384.00		\$30.00				\$525.00 \$170.00	\$500.00 \$480.00	\$1,300.00
48	M230/460	1725	0.33	1	\$115.50	\$115.50	\$210.00	\$210.00	\$126.00	\$126.00	\$108.00	\$108.00 \$298.00	\$100.00 \$10.00					\$450.00		\$1,200.00
48	M 440	1800	1.6 Amps		\$115.50	\$231.00	\$210.00 \$210.00	\$420.00 \$2,520.00	\$176.00 \$156.00	\$352.00 \$1,872.00	\$149.00 \$108.00	\$1,296.00						\$2,040.00	\$490.00	\$5,880.00
F56	M230/460 M115/230	850 1700	0.17	12	\$115.50 \$115.50	\$1,386.00 \$231.00	\$210.00	\$2,520.00	\$126.00	\$252.00	\$108.00	\$216.00	\$10.00					\$320.00	\$460.00	\$920.00
FE 56	M 460	1700	2.6	1 1	\$115.50	\$115.50	\$210.00	\$210.00	\$176.00	\$176.00	\$149.00	\$149.00	\$10.00				\$300.00	\$300.00	\$1,100.00	\$1,100.00
Manufacturer: EIM	111.100	1	1	1														****	#050 CC	64 750 00
EIM / OEM	M 460	1725	1/12	7	\$26.25	\$183.75	\$78.75	\$551.25	\$126.00	\$882.00	\$108.00	\$756.00	\$10.00	\$70.00		<u> </u>		\$700.00 \$600.00	\$250.00 \$250.00	\$1,750.00 \$1,500.00
EIM / OEM	M 460	1725	1/50	6	\$26.25	\$157.50	\$78.75	\$472.50		\$336.00	\$50.00	\$300.00	\$10.00			\$101,525.00		\$244,951.00		\$706,355.00
WATER TREATMENT PLANT						\$51,535.05		\$130,095.00	1	\$152,900.00	l .	\$130,905.00	1	\$59,335.00		\$101,525.00		\$2,592,129.00		\$5,753,042.00
RECONDITION & REWIND TOTALS:						\$418,435.50		\$430,168.20	1	\$778,508.00	<u> </u>	\$622,271.00	4	\$249,550.00		j \$317,760.00		₁ φ∠,∪3∠,1∠3.00		, 40,700,042.00
COMBINED COST: (Both Recondition & Rewind Totals)								\$848,603.70				\$1,400,779.00				\$567,310.00				\$8,345,171.00
resolution & remilu Totals)	P0000000000000000000000000000000000000			area and a second control of the	······································	<u> </u>														

BID T IFB #09-1403JS REPAIR / RE	ABULATION FURBISH PUI	MP & PUM	IP MOTOR	₹S		Tampa Armatu 6312 7 Riverview, 813-62	8th St. FL 33578	•		7260 15t Bradentor	xel h St. East , FL 34243 i0-8298			Mader Electri 18161 N. Ta N. Ft. Myer 239-73	amiami Trail		Ass	1155 Catt	FL 34232	nc.
						TION PUMP/				TION PUMP/			RECONDIT				RECONDITION		l .	
		· · · · · · · · · · · · · · · · · · ·			PUMP I		REWIND	MOTOR	JL	MOTOR	REWIND		PUMP N		REWIND		МОТ		REWINL	MOTOR
	VOLTS	RPM	НР	EST. QT	. UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
DESCRIPTION		<u> </u>	<u>, </u>	1															<u> </u>	
PERCENTAGE OF MARKUP OVER A	CTUAL COST:	:																		
Bearings:							20.00%				25.00%				25.00%				10.00%	
Parts:							20.00%				25.00%				25.00%				10.00%	
HOURLY RATES:																				
Regular							55 hr				\$40 hr				\$55 hr				\$50 hr	
*Overtime:							75 hr				\$60 hr				\$60 hr				\$75 hr	
Emergency Markup											25.00%				25.00%				10.00%	
Trip Charge: (flat rate to include travel,			\$75.00				\$0.00				\$0.00				\$20.00					
TDI (Tear Down Inspection) charge whe	FDI (Tear Down Inspection) charge when pump is inspected but determination is made by County										\$60.00				\$0.00				\$60.00	
not to repair.	not to repair.										φου. υ υ									
Affidavit as to Local Business	Affidavit as to Local Business										Yes				Yes				Yes	
Acknowledged Addendums							Yes				Yes				Yes				Yes	
* Overtime is defined as being between																				
Friday and any time Saturday, Sunday	or during holida	ays observe	ed by Man	atee Cour	nty.					<u> </u>										

Sitna 7/28/2009 JUS 1/28/09

Page 12 of 12